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This Question Paper consists of 20 questions and 12 printed pages.

Roll No. Code No. 53/AS/3

Day and Date of Examination

Signature of Invigilators 1.

Set - | A

ENGLISH
(202)

General Instructions :

1
2

6

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of
questions contained in the Question Paper are the same as those printed on the top of the
first page. Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
Answer-Book given to you. In the case of fill in the blanks, the correct / appropriate
answers should be written in the answer-book.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 53/AS/3— on the Answer-Book.
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ENGLISH

(202)

Time : 3 Hours] [Maximum Marks : 100
Note : (1) This question paper has four sections : A, B, C and D.

(2) All questions are compulsory except where internal choice is given.

(3) All answers have to be written in the answer script provided.

SECTION - A (Reading)
(Marks : 15)

1 Read the following passage and answer the questions that follow : 8

Forests cover thirty per cent of the land area of the earth. People are aware
of the vital role forests play in sustaining the balance in the climatic condition of
earth. Yet forests of the size of Panama are destroyed every year. Such large

destruction of forests is called deforestation.

Forests are cut down for many reasons. The biggest driver of deforestation
is agriculture. Farmers cut down adjacent forest areas to provide more land for
farming and for pastures for grazing livestock. Logging operation, which provide
for world's wood and paper products also cut countless tree every year. Forests are
also cleared for land for the habitation of growing population. Not all deforestation
is intentional. Some are caused by a combination of human and natural factors like

wildfire and over grazing which prevents growth of young ones.

Deforestation has many adverse effects on the environment. The most dramatic
impact is the loss of habitat for millions of species. Seventy per cent of land animals
and plants live in the forests. They cannot survive after deforestation. Deforestation

also causes climate change. Trees play a vital role in absorbing greenhouse gases
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like carbon dioxide from entering earth's atmosphere. Fewer forests means larger
amount of greenhouse gases entering the atmosphere and increasing the severity of

global warming.

The quickest solution to the problem of deforestation would be simply to stop
cutting trees. One must use forest resources by avoiding fell trees, so that the forest
remain intact. The cutting when it is unavoidable must be compensated by planting

enough young trees in place of the felled ones.

Answer the following questions on the basis of your understanding of the passage

given above. Choose the best options wherever given.
(1) Cutting down of trees in forest areas is called . 1
(i) How do forests benefit the earth ? 1
(A) balance the climatic condition of the earth
(B) cover the earth from the Sun
(C) shelter wildlife and plants
(D) meet the need of human beings
(i) Why do farmers cut down trees ? 1
(A) to keep away wild animals.
(B) to create land for farming.
(C) to get wood for housing.

(D) to get raw material for paper mills.

(iv) Mention how forests are destroyed unintentionally ? 1
(v)  What should be done to protect forests from being destroyed ? 2
(vi) Pick out the words from the passage which mean similar to the 2

following words :

farm animals, natural home
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2 Read the following passage and answer the questions that follow : 7

Most of us buy cereals from the neighbourhood grocery shops and vegetables
from the local markets. But what goes on behind getting the merchandise to the
grocery stores or to the market some of us may not know. For example the carrot
we buy comes from some farm in a hilly area. The exotic fruits and vegetables
we consume traverse long distances to reach us. Longer the distance they travel,
they become proportionately costlier and they remain beyond the reach of majority
of the people. Alternatively some people are taking recourse to urban farming, so

that there is minimal dependence on importing edible items from distant places.

Consumption of food is highly uneven around the world. The poor depend
on cheap starchy diet and the rich have access to diets of their choice. The task
of providing healthy food to all become more difficult, when the world is faced
with explosion of population. The option is obviously to produce more food. This
requires more farmland; more farmland means less forest. A huge portion of
Amazonian forests have been destroyed in this process. Increased farming even takes

water resources beyond their limit.

But the fact is that the world produces more than enough food for all its
population. It is the market forces that create artificial scarcity. Sometimes major
cereals in excess are destroyed in order to raise the market price for higher profit.
Poor connectivity among regions is a hindrance to movement of food. Absence of
easy transport facilities hinders movement of food from surplus to deficit areas.
Therefore, a humane and scientific approach is needed to reach and distribution of

food to one and all instead of taxing the earth for production of more food.
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Answer the questions given below on the basis of your understanding of the passage

given above. Choose the best options wherever given.
(1) Many of the exotic things that we eat come from . 1
(i) What is the benefit of urban farming ? 1
(A) We get fresh vegetables.
(B) We can grow things of our choice.
(C) It reduces the need to import food from distant places.
(D) We learn to grow vegetables.
(iii) Why do only the rich have access to wholesome food ? 1
(A) Because wholesome food remains costly.
(B) Because there is uneven distribution of food.
(C) Because there is too little food for everybody.
(D) Because the rich do not allow others access to wholesome food.
(iv) Why has a large portion of Amazonian rainforests been destroyed ? 1
(v) If there is enough food for all, why can’t everybody get his share of it 7 2

(vi) Pick out the word from the passage which means similar to the 1

following word :

‘obstructs’
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SECTION - B (Writing)

(Marks : 25)

3 Read the following telephone conversation : 4
Caller I am calling from Shoppers' Stoppe. Can I speak to Mr. Arnab ?
Rani ; Arnab is not at home. I am his sister, Rani. Any message for him ?
Caller Yes, Mr. Arnab has won the first prize in our lucky draw. Please ask

him to collect it within seven days.
Rani : I shall inform him about it.

Rani will, however not be at home, when Arnab returns. So, write a message to
be left for him. Also mention the date and the time of the receipt of the message.

4 You are Naveen, a resident of Delhi. You have shifted to Pune and have 7
joined a Public school over there. Write a letter to your friend in Delhi about
your experience in the school in Pune.

5 Given below are three situations. Choose any one of them and write a 7
paragraph on it in about 100 words :

(a) The slum near your house got waterlogged by heavy rain. The inmates were
trying hard to organise themselves. Suggest measures that can make them
comfortable.

(b) Children are made to stay at home during the summer vacation of their school.
They often find nothing much to do during the vacation. Suggest measures
which can make the children use their holidays fruitfully.

(¢) The main road along the colony you live in gets clogged with vehicles in the
morning as well as in the evening. Suggest steps which can ease the flow
of traffic on the road near your colony.

6 You are a news reporter travelling by Kalka Mail. Suddenly the train came 7
to halt. An elephant was lying on the track. It was hit by a train. It was learnt
that such accidents took place quite often. Write a report on it in about 100 words.
Mention the place and the date of the incident. Also give a suitable title to your
report.
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SECTION - C (Grammar)

(Marks : 30)

7 (a) Rewrite each of the following pairs of sentences as one sentence. 3

Use the appropriate words given in the box :

though, if, but, as well as, as soon as

(There are more words than you may need)
Example :
(a) 1 was getting late for office.
(b) T had to take a taxi.
Since I was getting late for office, I had to take a taxi.
(1) (a) Piyush passed the test.
(b) Ravi also passed the test.
(i) (a) Clark was not the captain.
(b) He took charge of the ship.
(i) (a) We reached the road to Mussorie.
(b) It started raining.
(b) Read the following paragraph : 3

The residents of Unitech Society organized Holi in its right spirit. The parents
gave only dry colour to the children when the children visited the houses, the

inmates welcomed them and offered them sweets.

Rewrite the paragraph by filling in the blank spaces. The first sentence of the

paragraph has been done for you as an example.

Holi was organized by the residents of the Unitech Society in its right spirit.
The children (i) only dry colour by their parents. When the houses
(i1) visited by the children they (iii) (welcome) with sweets.
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8 Complete the following paragraph by filling in the blank with suitable form of 6
verbs given in the bracket :

Yesterday I (i) (go) to the station to receive my friend. The train
had already (i) (arrive). T (ii1) not (know) the coach
number he (iv) (travel) by. I (v) (look) for him all around me.
Suddenly my friend (vi) (appear) before me.

9 Given below is a conversation between two friends, Rahul and Rajat for information 3
about an eatery for lunch. Complete the dialogue with suitable words :

Rahul :  Rajat, I am very hungry.

(1 I get an eatery to have a quick lunch ?
Rajat :  (i1) your choice about an eatery ?
Rahul : T am not very choosy about it. But (iii) serve vegetarian food ?

Rajat : I shall find out.

10 The following is a conversation between Leela and her father about going on 6

a tour during the ensuing summer vacation :

Leela : Father, my summer vacation will start from next Monday. Can we go

on a tour to some interesting place ?
Father :  Where do you intend to go ?
Leela : 1T would prefer to go to a place of historical importance.
Father :  Then we can visit Delhi.
Leela : Where shall we stay in Delhi ?
Father : Don’t worry.

Complete the following report on the conversation given above by filling in the blanks

given below :

Leela told her father that her summer vacation (i) from the following
Monday and (ii) they could go to some interesting place. Father asked
her (iii) to go. Leela (iv) she would prefer go to a place of
historical interest. Father (v) that they could wvisit Delhi. Leela asked
(vi) stay in Delhi. Father advised her not to worry about it.
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11  Read the following passage. There are six numbered blank spaces in it. For each 6
blank space four options have been provided. Choose the most appropriate ones to

fill in the blank spaces. The first sentence has been done as an example for you.

Ravi was (i) among those who were allrounders. He passed the Board Examination

as (i)

of the toppers. He is known to have devoted as (iii)

as ten hours to studies. But it did not prevent him (iv)

other activities. In fact, he is adept (v)

of the choir boys who sang in (vi)

him to be the (vii)

taking part in

martial art, he has also been one

school function. The school declared

allrounder of the year.

eg. () (A) among  (B) within (C) between (D) one
(i) (A) an (B) one (C) any (D) someone
(iii) (A) much (B) more (C) little (D) a few
(iv) (A) of (B) from (C) to (D) at
v) (A) in (B) at (C) on (D) with
(vi) (A) all (B) some (C) every (D) any
(vii) (A) next (B) good (C) better (D) best

12 Complete the following dialogue by filling in the blank spaces with suitable words. 3

The first one has been done for you as an example :

Rabin Sir, I need some coaching in English. Can I join your study centre after
the school hours ?

Teacher :  You (i) , but you (i1) be regular in attendance.

Rabin I (i) be attending the class regularly.
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SECTION - D (Literature)

(Marks : 30)

13 Read the following stanza and answer the questions that follow :

Weavers, weaving at fall of night,

Why do you weave a garment so bright ?

Like the plumes of a peacock, purple and green

We weave the marriage veils of a queen.

(2)
(b)
(©
(d)

(Indian Weavers)
What is the time of day ?

What are the weavers weaving ?

What is the brightness of the garment compared with ?

Why do the weavers make the garment so bright ?

14 Complete the following statements by choosing the best options given below :

(2)

(b)

The effect of harsh words last long because
(1) they reach the mind.

(i) they make us sad.

(iii) we tend to remember them.

(iv) we cannot hit back.

To laugh only with my teeth means

(1) to show the teeth while laughing.

(i) to laugh with no feeling.

(iii) to use the teeth for laughing.

(iv) to show that one is happy.

(Truth)

(Once Upon a Time)

1x4=4

1x2=2
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15 Answer the following questions in about one or two sentences each : 2x2=4

(a) What was the immediate feeling of the athlete when he stumbled and fell on
the asphalt ? (Nine Gold Medals)

(b) State the type of human beings that compares with ‘tall trees’.  (Tall Trees)

16 Read the following passage and answer the questions that follow : 1x4=4

I followed them through their school gate while they ran up and shut themselves
in the school hall. T climbed up the steps of the school, saw an open door at the
far end of a verandah and walked in. It happened to be the Headmaster’s room.
I noticed a very dignified man jumping on his table and heaving himself up into
an attic. I walked in and plunge myself on the cool floor.

(A Tiger Comes to Town)
(a) Who is ‘T’ in this extract ?
(b) Whom did the speaker follow through the school gate ?

(c) What was the contrast between the position held by the Headmaster and his
behaviour ?

(d) What was the speaker trying to get in the Headmaster's room ?

17 Read the following passage and answer the questions that follow : 1x4=4

We have 10 per cent growth rate in most areas, our poverty levels are falling. Our
achievements are being globally recognized today yet we lack the self-confidence
to see ourselves as a developed nation.... My second vision for India is development.
For fifty years we have been a developing nation. It is time we see ourselves as
a developed nation. We are among top five nations in the world in terms of GDP.

(My Vision of India)
(a) Whose ‘vision’ is it ?
(b) What was India known to be for the last fifty years ?
(c) Why didn’t we see ourselves as a developed nation ?

(d) Mention two reasons the author gave for India to be called a 'developed nation' ?
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18 Complete the following statements by choosing the most appropriate options 1x3=3
given below :

(a) Gopal left for Agra because (The Last Mason)
(1) he did not like to live any more in a small place.
(i) he thought he could earn more in Agra.
(iii) he wanted to learn pottery.
(iv) his father had scolded him.
(b) Gandhiji went to the Ramaji Mandir (Stealing and Atonement)
(1) to commit suicide in the temple premises.
(i) to light the lamp of evening arati.
(iii) to get rid of the thought of suicide.
(iv) to have a darshan of the deity.
(c) The parrot came back because (The Parrot Who Would Not Talk)
(1) it missed Aunt Ruby.
(i) it missed the author who fed it.
(ii1) it missed the green chillies and the slices of mango.

(iv) it wanted to show what it had learnt.

19 Answer any two of the following questions in about 30-40 words : 2x2=4
(a) What is unique in Janaki Iyer's school ? (Caring for Others)
(b) How did Jyjabai recognise Shivaji ? (The Return of the Lion)
(c) Why did Neema and other students of the school plant Ninety four neem
trees in their school ? (The Village Pharmacy)

20 Answer any one of the following questions in about 100 words : 5

(a) Why did Nicky think that he and his brother had quarrelled for good ?
Was he right ? Give reasons. (The Elder Brother)

(b) What changes were brought in dairy farming in Gujarat ? How did it benefit
the farmers ? (Cooperate and Prosper)

S3/AS/3—202_A] 12 RO AT WA £ 1200~3 1



This question paper consists of 30 questions and 8 printed pages.

Roll No. Code No. 53/S/0O/B

Day and Date of Examination

Signature of Invigilators 1.

Set - A
BANGALI

(d12=11)
(203)

e Rreytrst 3

1
2

6

AR sinssicad SN o519 OIIR Ol I 16l g Ry |

At Bodid AAN 5514 Tt wIHl Seel AIl 8 HeeIsitad ST dstel ofIsielldl
sisisigad st fferest fBia | sisstiter 191 oy, el omg s e |
fas5133+1 (Objective type) si=e%féiat o 1A et (A), (B), (C) w4z (D) 9dl ¢4 tabltell
a® 2% fpesied (e R onstel musn 9244 o ?_[f:‘@asm e RicaBio dase |
Aot iteold Sod fiifio spnsd wrs fito =4 |

fRIf5o% sa11el g Iy1 el SifdbswIsle oe e w141 el sdid Rgce sissia
ose [idafbo 3o s |

ad sjBosin smesiBosia Code No. S3/S/O/B-A fige |

53/S/0/B—203-A |  [HUAVRCER UV RAATDM 1 Conta...



BANGALI
(d1elr)
(203)

ANH 3 3 WeBI] [sgerarst 3 100

ferenat ¢
1. opo geel Aiiongeds, Affd dtem s s el eie |
2. Q. no. 1-20 A=y swei, aAfold satmeid vttt 4 & oo Tod tusl @iy,

B Ioals e Rrawe =, sfoi® e wiet (1) one |

1 414 9 adorel wid wid G414 fhted ol (Ol @R 1
(A) g oI (B) ¥® (&7
(C) wrie @R (D) wufzs o1z

2 '‘OIRd SlItbd Hite dtd ' - sitdd Hive (Bt e "td theo disity ? 1

. _JEn _ . _JEn _

(A) =ted 9B oA (B) pteid 9% e
(C) #ibl Wteld sl (D) #b1 Preld ol

3 aeuldl 2P sfaon fofig difea saifsa e &2 1
(A) atwd 4dita (B) wolesitdd 4ifa
(C) 4dted 4difa (D) oIdiedl 4dita

4 pouldl =P sfaolf® FE @A 2 1
(A) et Sigd (B) wRIt~4o1tr]
(C) =~ify wigIsnmna (D) 18 sigragsel 2311

53/S/0/B—203-A | 2 AR AT ADNVT DN 1 cont..



5 WA Fsirn fgese ? 1

(A) =ifa (B) wnzfae
(C) fasrfaen (D) Rw

6 amigfua #Hfd’ pfaor s fRigea Qi e zu wifs o dwe 1
(A) wllsien A1Ftd ol (B) #1el t4n A1t ol
(C) yQros AHLA ol (D) 4doy-dlesid A4 <l

7 W i ddten Aifvd 91 S e 1
(A) i (B) tAIsiIl
(C) anfu= (D) 3pfa wwifs

8 4wy wWikd Piedmifa it 1
(A) iy 4y (B) 4y 4Ry
(C) wr=iy 41ty (D) A= ARy

9 fitbd opisiel 41aifBid dvsjer BAId Wt 11T BT @Ity | 1

B3 it s swd
(A) Algelid ol WS witype (diafae sy
(B) w1 teiebflaal Rramd siwiy
(C) =i et sirel ~[teifiae

(D) opidr o 4% e

10 #if9s =1o s ool ey Riea g st gy few i e 1
(A) =41 (B) 4w«
(C) =t (D) sitel

53/S/0/B—203-A |

W

ATV VAMATRRGTAUNN 1 Conta...



11 SR8 Yol 4F-tata-0nstd 6IRAPI @t Pty age - 1

(A) sl ey (B) st toreniy
(C) #lFen ey (D) SN e
12 W=169 Aamid QARSI 2radl s[iel $td old $ide - 1

(A) ot ya e s
(B) foftt stptard toet aft Htd o[fud w4 qnae
(C) foof 9a A1=A11 ol1%

(D) fofér erersiieyend Weol

13 'fisteetd dar #g<4af® sy @1e qigeiifes sor 1
(A) FReg-yoreriel-feosie Hionds oMl olleml qiefx
(B) « olibdel Ofldlml KLY A4 AlH  @IPI 9P
(C) g o%sii ~lad Rigwsix asdg Aot

(D) A aeid WA AwRwmd AR wol

14 'OlHO1N d0pfod Qi1 H4ted O Okt SliedIfiS $iel 441 29 - 1
(A) Tasssid faesl (A sIBR™ MolHRl SN
(B) fui®sd fassl (Atd bRHs SoIEl AN
(C) Tasdsid fasn (M Atmal o N8

(D) Twsssia facon (At dHeows ol NG

15 MIeA 40T ST - aRIee NN 4100 (il qAteld Wieead SAT 401 7esmer ? 1
(A) «faq 8 nfdo wegN (B) «eil

(C) Mifdso (D) o

53/S/0/B—203-A |

=

ATV VAMATRRGTAUNN 1 Conta...



16 'wivsia’ $fHoiy SveiBio' a4 o 1

(A) Sinafio (B) ®wzfioe
(C) Fiwafio (D) =sIfio

17 'BEsE s 3ol e sEEead oEie 1
(A) wIvsia (B) IR
(C) wig-oidld (D) A

18  elre oitesi eIt tatd widell {biell 1
(A) biBrewr (B) yyreerd
(C) wwBbhEo (D) sfrdiftod

19 '#ouldl HIE dfHo1g e gid' q6to Il 3eie 1
(A) ©rpito =44 (B) beto =td
(C) #ild =7to =4 (D) thtwte =

20 4@yl afs' sfyo s o’ Man QR Sraeedd | o’ Seand 1

o f$ ?
(A) #waxpd (B) ste|pst
(C) @etifiypel (D) #1eiBI= ey

21 21 (®) - 21 (b) s~ f o 10-12 & ~igan fhe |
#®) I oIl s’ SO B @i g9t Sl oA ToiyE 4e Wl Hede |1
() #lewIR =P Ao 3 owema SigE Stared @ 2 1
¢ Awigfia #f’ sfaor R qieied Wi wdto 74 - 9y A 1
el dteiteel ?

(=) Busged yewd B Ries orel el ? 1
(®) 'OIHGIN Pl HIAT Al afE oo Bis At ? 1
(6) MBI IEsiey] S1F Hitd By «ste 6i3te 7 1

53/S/0/B—203-A | S PR ADTMIRA O 1 cont...



22

23

24

25

53/S/0/B—203-A |

22 (#) - 22 (b) #~ee[fird Sod s 30 B e Rrawo mE |

(#) ‘rvsia & it ?

(") "84l G Htd' HEHOIW 'Gird A SN AIDLA ?

D) il YA onfi mfsife’ sfro eeasna el 9 st fN
e ftes ?

(&) Tisttetd AT A4t 7o ARY'd ST o111 Cheord Zual AB SN ?

(%) 'wlIGIN AoPfod il At (bl WA Apietd TaIfa’ qterras ?

(6) 'S FAte (A - B AL qolto B[RO (bravae ?

23 (#) - 23 () A~ii® oefis 40-42 & owam Ry |

(#) 'wlAoI dwpfors TUn spfo’ - (el qell mALR T AL
LSBT Pfoet |

() RIGTS' HAteR g3l AL welr At N pA1 Sbo aee iy
Aeel el ?

251 didfd wNIbd fbepnd W41 048 LA (oldl (Dol ?
(@it 100 & »14n Ss4 fhat 1)
o4l
Bredarafel U= ANve Hoel ielld sS4 old Wtdd R[vald H1 sifa4de
Zeates ?

it YA oifa fasife’ sfao i afo afag e welleid pid
Gidre o o6fEa 100 & ~1and wer Osd fhey |

o4l
A AD G SIS i’ SIS AAG A AfS swkt Flong ga1Ho
este ol OefEia 100 & s1earg ey Sog fhel |

=

8

ATV VAMATRRGTAUNN 1 Conta...



26 ‘wifhe A1Bitod 57 et by SRR B | - 3 9B SRS ptafae ? @i st 6

Uz OfF® rafae 2 98 Oig wgr By 19 1 (IO braltes ?

27 @) Brefifio @i 4% fFsidlo smm Riyge 4
(A) =4 (B) =t
(C) @iget (D) A4t
(E) wst
() Freifafae w-iar 41 R fagean e 4
(A) Taspetios (B) WnH1fy¥o
(C) wfifao (D) rerereie]

(E) fogssnis

¢ Rrefifae -sien 4 s stnds om Riyge 4
(A) 9 (B) fita
(C) 4ifa (D) Al
(E) =

(|) ©RHN AR HND Atel 7 HHIZAl HIG | OIHOHN MW PP il 7 2+2=4

Grizds "G |

28 oelfdd 75 B oitan wrdrsepiEe dape 5
saferfoeg sifosafer st aror e
lfer e Al o 9 sing 141 Hed |
o4l
oISl (N Htd Ol Ol (N otE

Od g6l Ot (X9 osa wim |

53/S/0/B—203-A |

~

ATV VAMATRRGTAUNN 1 Conta...



29 oAl i Argelr wrfery by | 5
Sl
O A9 PSRRI Al Setest | ofofag siinds oot e asiiis
a$fs AeArIA Oty O AT $AO bl | Ol Gelt @ AAPITRIDS oleufo

wreft 615 feryat |

30 -t aBls RANuNE oEeEel oefis 120 & o sge fige 8
(#) st (il - oglis Yewdiutol B SN oIABI - Jstdised
LATTAINO] - PGS SR - IsisE )
(=) o By s o (wfist - Wgesar - difzo IR - qverr Rsw
- Gepreid )
¢ e s wido o (gilsr - A6l ulEte Hensl - ol
wldto FHwEbbid siEifha - MBI AENC wlho - IR 1)

(®) widtod SISl i ¢ (PHl - WIS (Rta opisalod osee -

opisxfod Hide - WG RO YuE A G - sl )

53/S/0/B—203-A |

=]

RV I VAT MATAUNM 1 4800 ]



This question paper consists of 37 questions and 8 printed pages.

M FSUAhd THRTT 37 999 M1 8 BUW T 3.

Roll No. Code No. 53/S/O/M
AIRUTH @ .
Set - A
MARATHI
(o)
(204)

Day and Date of Examination

(wfiéran feaa snfen ari)
Signature of Invigilators 1.
(Friemre w8)

2.
L1 G CE

1 oOemel geuihean Tom Jeaay STl oTshHih [asrdl.

2 HUHET UIT-US U 1 %I QR Uhal USS ST YeHrEl Hedl Yo Jsaret qard
I BIYT! 38, dIoid 3T [T ATel. q&d W9l Seamu Hies ®u1d ST|ral.

3 TRl U SO adiH grete e T ard af qad MasTeErEn S, el
T YU STH-gRAHMY AT IR e .

4 TR U A 99 99 A UG dead SradrEl Sied. Sguatdl eAErol
ST % quhtd JuT AT

5 SIO-ued Sew MeyE ™ e enftt A S Afdiead STmHie aeedTd
TIedien sy Sfauata dsd.

6 TR ITURBIEY YT—u¥har wie e 53/S/IO/M-A ferad.
53/S/0/M—204-A | OO T - r €t




MARATHI
()
(204)

@ : 3 ] [Tgot o1 : 100

et
1 w999 GiEfau smaEs o,

2 W@ N deYE® dEd AE 99 SaY 9.
3 w13 11 ©&a @ ax WU e oed. dna arg &g Magd fermE.

1 9™ 99 &9 T 7 1
(A) I (B) STTEIST
(C) W= (D) TeEY

2 U3 e walaiel arg uEE sedr. 1
(A) TfRerd (B) uftfefa
(C) uwlRafa (D) ufeRerdy

3 G| srAvdda [@mr SEoarg um@E 97 Cfra S’ 1
(A) TR (B) et
(C) drerird (D) wrEaa

4 Yol FoeT A HAAM A IR 7 1
(A) @MW SEm Asd (B) HE ZIM 3T
(©) ¥ g drad (D) e gar REa

53/S/0/M—204-A | 2 AR TR Rr EE T c ontt..,



5 d9R ufe udrAl A9l vl [qae e oE 7 1

(A) fasa e (B) %39 [aa®
(C) qv foas (D) fa@®

6 WE JEE BHT S A agiEe 1. 1
g% @b Tb & | T ..o B,
(A) F=gT (B) LT
(C) sE=A (D) TrEzs

7 FgHAM ®OTEl g@l bd 7 1
(A) erEa (B) T
(C) dra (D) HTETaAT

8 UIIW Al BTG A@El, TWE e fGd oed q ®M HaE.’ 1
(A) TAABTS (B) wfosgets
(C) Ha®® (D) dATd®I BIUATE! AR

9 wWW TEEEgE 8 = fdaer - 1
(A) areqd (B) =gt
(C) are (D) dARH

10 YAl ] TEoaral S 9% eld Biuel e s 7 1
(A) 34 = (B) U@a™ Yo
(C) #w =9 (D) ASBT HET TR

53/S/0/M—204-A | 3 (AR EDIRTIUAC TR M IWAWAA IR T Contd...



11 Irg ayar el = aued aqE qu B 1

“HIETad W AT T A gl W™ g8 &dr @i il
qUT T SIfae STl Bidl, "Rl A wel AR 9ed Teedl, fdl R,

(A) 3B ote fame fad (B) dis IMA FHEAEl WX
(C) VWA Tl fq@e # (D) @ ®iW

12 A qedE Sedrll aaa Bival 98| He ? 1
13 oW faeEEEl | Tow qEuiesd ®iver Suear siam 1
14 % &Y U qE A HAH Bl WA H® ! (TEEOR WA B 1
15 SBITA IS el T 9T HARAT A9 BT Heddl Iq 1
16 oerE faiemien 9d I9Me =i ARG bl fode 7 1
17 ATE ded @S @l 1
18 @I Terem 3@ Iuig &9 bd s ¢ (TeT qem) 1
19 waren fogar o =g & grd ¢ (EEE) 1
20 FHAGIAT TEHAT T@HET &S B ICA @l 7 1
21 SO d HARI ARIAMBS HAES! AT Tar 7 1

53/S/0/M—204-A | 4 AR TR ROV ol EE T c ontt..,



22 Yo faddw g« ®YE 9O Uh 9= Al — 1
() W SRR B
(i) X o= Swn

23 (37 WA SEd Ydd! a9 a9 gamelt g faer - 2
() =
(i) =%
@) wew e faegdl gs e - 2
(i) ga® (i) f&@r
(iii) TasaTa (iv) g3

24 QMW@ SAN /A AEid 99l 3T gEe veaia faer

SR 799 95 fhan &iTss 3Tl &1 faur ad gaueain et faamaEdi
TgA J@Edl @S YIe bl e, Fqid foam offtT ofeR @Y &ide ofed.
SITAT AT GHAT 161 ST FHATe] 161, Tl aared ST Il Sas Sreara
AIBR HHE TAHOR ATl &1 fae 9 99 g9hes g1 qiedl afednd 932
A 8. “HIHT 99 o e T R} o 92 qd @ o ST wEd’ # Ig
AR qeygs o, Ul GiEmEl S Seadd o 9 SsTeds 31
AigT g9@ AR, § ®gT fod wiest. § om® dari T wifad ae. T
QIfTae o718, o7 HAIOTETET JaisuvT STaiihd e, ] HA@El dN S
A T ST g uor fespeaal. @Y aX argdra &1 gEraal Sid 9@ 76,
ANEd STEE]. Al S aeEl. Al Sa daed |El § gdid @ SR,
qU d HSd Tel, WU Hdil AVl oMd d@l §akh Hoad oed.

q9qd ¢

() daugair ST Uae bl 7 1
(i) Hagedad SS faaX ®orr 7 1
(i) damiier &% & HId ? 1
(iv) Sa=amE arg ofids =m 1

53/S/0/M—204-A | S AR TR RN T Orl A T € ot



25 MW A qaqdsd agd daid 9eaEl sal gl S| faer -
| g 9, 9o © @ ot
s A1 faErd, |@E@ 9 gomen 7
S o JEE I, @ T 4w
e FEq 9% fueq q@a T |
e ot aig, e @1 #ew
79 9% IR ™ qEd Us

T qTEdET el &9

AT AT BATE — dl (ST Tk

79q
() ud®m oo frgel @ d@a S 7 1
(i) ¥ ®=& FI WA MR 7 1
(i) SEHTAT IWEANT HAN Al @HEE BTG G99 Fifad aed ? 2

WAl I 9.

26 () e B AT HOAMERS T HH ArTd qifes 7 2
(i) grear TRk g Bigs &l Soel TR aiar ¢ 2

27 () TR Cfasaee’ § fageer @ 9 el auid e 7 3
@) AfEE e g fawEr qiedr . 3

53/S/0/M—204-A | 6 HAAUATTRFERHNAAT AR RO WAT A T € ontt...



28

29

30

31

32

33

(a7) wEeH o W HU — 2
“ugT Zmied Qg 3o Rear W g,

gl S gu Il e 9, T
@) wEeE (9. gikey) el a1 MLl ST a9 aed 7 2

(o) =0 ool 91 f&g fhar favas amn ool @elEREAT & ST AR 7 3
(@) T JuHAC BT BT AHA 7 Biadd I wAd @ @ 3

(3T) ‘GFE @fadd ®al BT 7 AT BiaAd Bl AR B 9T fommar 7 3
q Bl 7

(§) ded <o Y W HU — 3
“Todl ARl STEGERdl G G qer |
T A9ER B (Raw galad €9 wer !

(31) W TvTasste SreT feddr duEl @ront ? 3
@) ‘wEN ®d T UH SGYT INGhIX BId, 3 W.h. I i WU ¢ 3
grE fea@i ol @ Aq W, (Fremd| gaw 8 O 10 A f@e) 4
Greradel Hiorarel fawaey ey e o (9 maEiEr 200 97%) 10
(i) ¥g 2T TE

(i) orfa dg =

(iii) ATHAT FEOT WRAWE G|

(iv) s ST,

53/S/0/M—204-A | 7 AR TR ERAMAAT O D AAT O T Cont..



34 gRIW O WSAIKHE Al A% BT U8 HESAT ! Bl 7 WS 4 4
SEcEICEEICI R

35 Al W8N W& AT d9dd YIH HHGM UE F@l SR, ™ SiHEd 8
HOMC 7 Tofel.

fema

AT TiERe fqd @ e SR s, Wl G Al
TRATAbE T e,

36 Yol SadrEl UH JAEiel 9y gl K[ f@eT g arg e ¥ 4

AREHIE % [0 Med. WY ARG FHea TEE e FEdd |
e, T, Ha1, FRTU ANH HIH BT e fowd bar a e sEa.
¢ BHIUIET ] SHOTR ARI. S0 HT Esd & S Al & b, JTel
Y Td B, S AT Id o HAEST ARl T § @S o AHA AR dALd
BN TEAMT ST Teh @ AT, dF NS HET A AN, JRAAEe] 36, A,
g™, fETOY, WEW o oM@ WR gafaw Sard. A1 9l Saw 9T BT
IiEE 33T AATHEATN S By Thd. SIedT U ST WA T2 3o
AT STHATA.

37 Ul BHAT BRI 200 HHidel 900 HTES 25 €I, 50 79, 25 HiHdl Rd. 4
B ARl agoTd HIgd o arEdl.

S3/S/0/M—204-A ] 8 INEERRTRARAAWNEWIAII - 3000



This Question Paper consists of 32 questions and 8 printed pages.

Roll No. Code No. 53/S/0/T
Set - A
TELUGU
B
(205)

Day and Date of Examination

Signature of Invigilators 1.

Qrdden ¢
L. eeid &8 5°S doath PFDBos d &8 Hop Sord.

2. PRG0S Endo Yoo Hogg, BHIB0 EOHO P aiod” Hwe Hogsd® HBFooE”
B8 H0BrBHE T, [HFen DD EosS” GHB, BAG Er¢ HOUWFHEIIBL.

3. %088 (e38%) PHos® B8 BHD A, B, C, D &3 menrh aaravenaow.
08D D00 HBOD), BN HHrErd DB0STS Traxed.
4. 3083 (38D D)0 S Koy BEPonoTB. ed) BHOL S (ddH S*He

SVANOVEVIOV IR

5. oo HHE0S® dewdoed Kgren, ozgew, &P 02050 FoHT. é@i@@Lé&bo{Dé o
g;jo @ég_ge»m F080%HeIBErED.

6. EHIBo BwE) §°& Jo. Code No. 53/S/O/T-A J2rgrd HB0 WS Troxrd.

53/S/0/T—205-A |

p—

[RTAI AT A AT AU 1 Cont..



TELUGU
Bed
(205)
JSano ¢ 3 Hodew

KB Srdhy ens 100

(g
L od) RHODH earenen 0roDod.
2. @8 P drdpen WEDo00EE0N.

3. B3 SHo0oS'S esmranen (FroXrd.,

VPG [DF)0s D3 SEPErIreD ab 2rendBoe® Trosrd.

L g8 3880 o0 8 OB?

(A) Jd (B) 25
(C) D3 Bo8oXy (D) 238 <0
2. & s%8e DBV ED HSO7?
(A) O8ech B) o
(C) 338 (D) 8&ved,
3. Sog e wddo O [fogo S°AB?
(A) DA DHoreo (B) =R oo
(C) Jx%o (D) &8 dordo
4. "0 DBHOBL" e9)RHE7?
(A) R (B) 3rdesg SBpck
(C) Sow Hrdpyw D) OerdHS

53/S/0/T—205-A |

o

10 Xx 1 = 10 .

[RTAI AT A AT AU 1 Cont..



5. )R S0[@ SRH) B0 B?
(A) =mohdd

(©) $0

6. 20O BRY G SO B?
(A) = Sy

©) Jgerd

(B)
(D)

(B)
(D)

7. oo Bdo Des o %08 2dRoH?

(A) B3

©€) o

8. "2302080" ©O0& DES?
A) ©8

€) 2

9, CﬁJ({?“’%)"’Q)J as@g/o{’,)é K)ozééégdo N,
(A) 1912

(C) 1901

10, Jeegdin DO AES?
(A) S

©) (@0

53/S/0/T—205-A |

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

W

BV

2|59

od¢ Egen

g0 dod 8§

ROTPO
o

asd@/i)

éé&
&Bew

1916

1911

Vo)

ddw(eso

[RTAI AT A AT AU 1 Cont..



11.

12.

13.

14.

15.

16.

53/S/0/T—205-A |

DSee B% g8 HBOD Jo BIE?
Glag
TS S SId0 MO Trobod.

BOPR0E e BN DS Jgo Beyod.
Soe
B0y 8¢ HOoW HBoWOd.

QIGD HBow Benyod.
Soe
D Erdy P Beord FOEH0 Benod.

3D POBD CSE)KQSO égoﬁo&.
Sor
Qo@ BOAD HBoWoR.

3.0, Qrgiguo HBow Bonod.
Soe

¢SOT23*00 égiéé(goefﬁ & é&gééﬁs 8008,

808 m&i’ej 8038 esmrenen Tro0b.

&, A A0 e,
=B VAV ] &3,
& ARy SR 28,
Q. NdEe eIPE) womrdn .

0. oo Db ES5dew

e

=

6x3=18
éJe)S VY
388 ogeen
DTENSE0
g (DO3TPR3TPeD
B0 @08 A
IERRGARIAITmART O 1 contd...



17.

18.

19.

20.

21.

53/S/0/T—205-A |

80b 8S° w8 I8 BB S TEyTRen TroNH0s.
(A) ddw o /8D zsao@gé Sors 48 Bds*
B D6%SCH0NE GIos BERD BMALH D
oy, i Boend8 «Sow ewowe By 0wrodad
0 HY BDOB oS DOD S 230!
Sor
(B) Benddd erdH @8BS D DK ¢ 0@ (Do
Ben Bew BYIS GBS B a3, driorae Hwe
Qo /0 L0805 @aj@o‘ DBV s Iuffodn, &
enjen BERNod, Sod, DEVROE FOOWS 0 IVED

@Ddg@%oefs S A OB BN ?
Sor
DESSTen DIS® F6eBF0 AP

TR K oIS @bd(g@%o eo085aPen
Soe
rdR5 BT DHOS® w8 DKy dMBFo

8ob S Bodls earendigod.
(A) @bd(g@%o CASIqe

(B) ardgamd’ )rdd 5°G
(C) Bugare H8v05r 3Ry

8od ar®S° w8 w8 10 FTYO e3veD TPON0E.
(©) [Perrggos” A)sen.

(&) 38 oy o ToHedd Hrdnen

(2) ERB)ES $T5h 68

9]

2x3= 6

[RTAI AT A AT AU 1 Cont..



22.

23.

24.

53/S/0/T—205-A |

Sod DergdE grdo oroXo’.

(A) B20d0S* HEd Heedodudootar

L0800 300D TP e 9%

SooYn HHI0 SH 00002202008

FrPHon DS I,

(B) Bob Acgo 0, o 8o &) PHOS exrenen TroDod.

Sor

o ePS0Y ToNEB. 00D DS ecigiren B2 JRBoSo FHOTE.
©OMIE 00D DTSN, T8 S oy, 08, Biroded @ohd HAIS.

LSRN

(A)
(B)
©

(A) 8od

rodE FRBOBICO e PQOWE?
0D e DB IDS?

i B8 [HBIB?

Soth DenSwgs egren o, asgd” HAdrHoHod.
S0 & Denfen)
5208 a0 VI B3 Doy e

Soe
GS° Totd Jerdeorn AHDoBod.
TR0 P80 @ (S @8 B0
éowge» 83, 508

Erd80 B8 eorerd [@Rreoseoed) dH00UNod.

=

2x2=4

[RTAI AT A AT AU 1 Cont..



25. B& NS DeSg oFeTen 8ok, 3

Sor

2,85 Jod wigPoi, FES TG I " HIS® Keren oD, wd @ D
FEI, IS 008 Frrdoen 8o,

26. 806 8S° Bodkod i FrEgen, HEFY TEFey BeNo&, 2
() 0D Hre () 2r6% B¥o
(®) ([Bdgrew (88) & T
27. 808 &S Bod Ho§ daren B0, 2
A o 288 RO
Q. JBE &, od%ro
Sor

B. "Hréudvosduch ddwdo orerdy. @00 38 ed)8gsso”. - P asud ) g

2w (HBoWod.

28. 80b a8S° a8 8 2588, @go ocPoN0B. 1
®., 0208 e, 2r8
B AGAew &8 PTAW

29. 800 Jrod [HE)H-I5)Een oPo0od, 2
®. Ny ©. DSRO
B BQ &8, OGO

53/S/0/T—205-A |

~

[RTAI AT A AT AU 1 Cont..



30.

31.

32.

53/S/0/T—205-A |

(A) 80d a¢S® Bods Targren TPonOd,

®.  Wpro SEER V)
B, OO SRSV
Soe
(B) 8086 oS Botd Dol doren TPoXod.
o, I8 @ QO
8. Som8do 8. D

N FTLOTO SO 5Oen JrOoLod.
28 IPerrSo.

@9, W@ cse)?g}%
e, B eodmr

2. ddrordo 0B K)mgo 03

8ob drred ot [EXoST wdd) T egrey TPoXod.

., % 3. KOS
Site) S8, 2320
& 98P & 2o

=]

[ 2400 |






01

01

01

01

53/AS/3—206-U-A |

e S o Te o d I

e ® TN

H

&
N
E
"

©

‘ot L uf” & = (Keyboard) df;}{ P /b):::{

J104  (B) G106 (A)
J 114 (D) S 108 (O
Sy (5 U Frd sty S el
@ L@
gy (D) Ly (©
?lﬂuﬁuﬁu’gw{é%

Ul (B gEF (A
ekl D) 6z (©

ORI (T

17

(18)

(19)

(20)

[150]



01 APV O= TP SUF 2T

A ® = (@A)
grt D) J¥  (©

01 fe quﬁ/lf"tﬁ LGS a4
S ® ol (A)
= D) sl (C)

01 S B K el ba U S (15)
A ® & W
J# O <7 (©

01 s ST Fot e s P e
57T (B =l Q)
S() S (©

53/AS/3—206-U-A | 10 {JATAAORR - contd...



01 e By gl ds ©

~6 B JE W)
=7 O §la (O

01 T Ol KUl (10)
N ® T @
URRNG) de ©

01 VLY an
Ji ®) N
S ) Ui (©

01 e GUULA a2
Jerivd ® S A @
$p ) Sd¢ ©

53/AS/3—206-U-A | 9 [HNAMEVMANAMEWIRAAWIO- 1 Contd...



01 Wyl LI 5
(OFLUsLd  (B) 4&';5@; (A)

£ i Ju;/f D) ¢ JL s Ju;/f (®))

01 Y} qujb"d:g”ﬂbég (6)
JhT17T  (B) ST 15 (A)
JsT14 (D) JT16 (O)

01 e u"‘gi “lcu ju’f"/} ‘f{/ 81” (7)

Fiier @) o205 @)

1227 D) Jisvusus ()

01 e AL @®
e ®) S @
= (D) s (C)

53/AS/3—206-U-A | 8 [HHMEOANATMEmIRAAWIOL- 1 Contd...



20

01

01

01

01

GISF s L e L LUt ds 19
_@l gy
s Pl Iy (H‘BJ/T”J_ J[}uj/@ (1)
LreFurl ® Lre6ls

pﬂg;(!.é/uﬁd"& (D) p(lg;wg;./} (©)

e Vo @
A (®) = f @A)

-
%

PERN() §(©

el T I ST Qe LS e 3
Jl ® Ui ()

&4, O =4 (C)

Wi e b ULl @
St (B) W
Jig O s (©

53/AS/3—206-U-A | 7 AN EWIRwIm- 1 contd...



03

03

04

03

03

03

03

03

03

03

53/AS/3—206-U-A |

@y P e e

-’&UJL’?J/"”}{ S L g (5{

e

Sl & b U QLK Fal i Sy

sup Sk o FE U ey 31 ei &l Ui
Tl g t[i_,ga//u;mizi (}

-éwl}n% b d/b/ ﬂwl

o &L L ks i

et 2L ol

L L.

-’&UO’ALJ'}WL&UA/? .

9

.10

11

12

13

14

15

.16

17

18

6 MMM MEMIAAIOL- 1 Contd...



10 -q/}fuﬁxggu!ﬁdj;gy 5

S B iy aedipz el 8N heo

08 :ﬁiiJ_nugéu;ﬁe’z!utut?l/@wi}{y/@ﬁb 6
-u:/rafj,«: JL/r
b

-Q}U/vngu;’ Kjﬁ 77153)/@/1‘2{&/’}/}([2&/971 /?.SJUILX

05 f< Al Ui L UL di:) e .7

te—

-’&JJ:“'”"J&;; ué.‘.’?{ J/b‘f

04 LB LU E S 8

e

A o H L

53/AS/3—206-U-A | 5 [NNAEANEmImAAWO- contd...



P

evr S aslimsan f LTl HF A ST G LTI ¥ A Bl

21

NN e s TN L S 2 B e B g el

*»

e Wi e e Ve GO,
?Léblgugfwg,/LutJ;/f}u’/ @)
WS LTIk 2L )

W W G o s SO @

3+1=4 AL e IS s
L

Y N SR Y AN

04 AL 5 4

[ o

~& GE iy GF e

53/AS/3—206-U-A | 4 {NRRRR O ARERAT ARG T € ontd...



08 -@T&lﬂﬁé &U'y‘éé -&2c,u;/u’l;f"' S5 i

oL b KU ‘L(_é (ju/,du.ﬂ//u*u“z_fu"u,uiw
s Ka BT e s SFUE SH G i e P T e U
Kmuﬁ/fw/gwfwu?wé_u’/.%uf;uuﬁjﬁuu,u%
2 EL L UM U U UM U 05 e e $ob S kb U ¥
W14 LG 0L T El K s BLRUSTA o ot KUk
RN Y S F TN
e i e Ve U0,
o eI Ul (@)
sl ()

b b U &1 b ol (4)

L
Sl et el e that L udTd vl g

g{l 3%&551L4 L &/"’i“_u-f;uﬁd)}d/agu/{u’ f(ju/
A L PSR B LTS L Ly FF

53/AS/3—206-U-A | 3 {NNARAACARCCITN AT AAWINAAE 1 Contd...



URDU

(s2,1)

(206)

100:‘ﬂt‘f g

wo=6 Lyl L e up A E 0 u L s a
_&Uu‘f(twlff
S e vy o
a1 g A
L s
€T < 295 1 L ?L/u’! Uy

C
R

N

e

A G E At

Loz ot LU
e S fés Ll Jub
e Ui 1y ty S e Vi

b I ey 2 Ul

53/AS/3—206-U-A | 2R ARSI € omett..,



Ll e 19 et Jis )

Code No. 53/AS/3

-ﬁ/u: U}"M/,}Ju Jb

A URDU
(asl)
(206)

................................................................................................. ’&gufb‘lﬁ'/,‘;du

................................................................................................. ) 6/@({09"
....................................................................................... 1 sl oo

o s 1, é‘%éc_tdny%nﬁ‘_)w 1

& (e P S GTS et el S Bl St r 1 & S S 2
G E ety e el Uiee (R ple o L F

e Mne /S Fomfidfe FDAAB CI/FI 3
-uf‘g_,!ﬁ Z?ui’ P

Gt et L eI L ety A F-L el (G A
Kb e 1L L e

el e (i uE oy G ued Au ot d6dn b 5
Kb/ b yB

gg/53/AS/3/UA/,/£¢LJIy/ izl 6

53/AS/3—206-U-A | 1 [AUACMAT TR AMI A - [ Contd...



This Question Paper consists of 31 questions and 8 printed pages.
UL UAMAMD 31 usl i 8 vwddl Yl 8.

Roll No. Code No. 53/S/0/G
Ad vi6R 3 .
Set - A
GUJARATI
(apos1cll)
(207)

Day and Date of Examination

(il AR A )

Signature of Invigilators 1.

(MAas udl)

A Mew -

1
2

6

Renel d-dl Aa e UgUAAHL udal un Qv

uddl uguAtn AsIA Ad. UAUAHL 2UUAL $A WAL 2 Wl AvAL vedl o 8 %edl
U Uil GU © d oS Aq A ugl sHAR O 3 dl a sl Aq.

oiglasedly usil-u [sedl el.d. (A), (B), (C) adl (D) Hiell % Gdr @wdl €14 dq
A0l G YRASIHL @vidl.

opglasedly sl 018 ol Wl G MallRa s2al auuul suual. eglasedly wsil
w2 el AHY ALl Ul 24,

Gdr YRasiui Mz s @ R ol A5 ugl 2 Ad «deiR dal 2«4 s
auaiel ulauella 204000 Al a8l

Waldl Gar YRast ur sl i dval 53/S/0/G-A amdl.

S3/5/0/G—207-A ] 1 INEERETRRMR TR0 - Contd...



GUJARATI

(aros21cll)
(207)
ANY : 3 saLs] [$4 2.l : 100
YAl :
1 ol ugl A & 2 uds el AR 215 2udal 9.
2 oglasedly usl Mz wis-ais el HulRa 9.
3 oglaselly ualdr @vidl Hi2 dHIRLAL AHAY UL A€l 2019, old) sl UL AHUHL
s ALY SAAU D,
1 ‘oalsl dIRl Ssi3 sl sl © ¢ 1
(A) GHieisR el B) -RRis 1l
(C) SLSRUSH S1AdsR (D) [Miw &old
2 ORI WE USSR ...l sl 69, 1
(A) lld (B) us
(C) A2 (D) ushi
3 o0l Qe edl ? 1
(A) Al wasdl w B) aldil sl 54l
(C) Al sl ucll (D) Aldi-l sl od-
4 UdSs URAAL SR ML 8dl 7 1
(A) dld 2d AR B) A5l Gledl €l AR
(C) ~8ldl A4 AR (D) Ydl %9 €14 AR

53/S/0/G—207-A |

[ Contd...



5 Renoudi Raril 3ar € © 7

(A) dioll (B)

(C) 34l (D)
6  ‘Aedl WAl 3R »d © -

(A) sHRll sdl (B)

(C) H8-d sdl (D)
7 AWARS A €1 ddl ual sl ?

(A) AR Yot (B)

(C) Hddd @vi- (D)
8 sl QuRl L.

(A) A 4 A 8. (B)

(C) Bal el a3 8. (D)
9 ‘MYPRIAL Avs Sl ® 7

(A) u~ldld u2d (B)

(C) sisRUSeL s1AasR (D)
10 {lAApiiel sy viol [Heiun ojudliug Ayl ?

(A)  [anyariq (B)

(©) ydeylst (D)
11 uddd GlEsAR -

(A) Bl (B)

(C) uddifula (D)
53/S/0/G—207-A ]

ORY

edl usladl

MEIR G

AHAUE Yo

lder Yzl

Hler Hler

AR 4dlrR

8.

o/
Q& &

L0
&

$192 qAldY

A A, wes

BGUALBIR

Yae G

yddiRes

yddIRlssL

[ Contd...



12

13

14

15

16

17

18

oAl UA U2 ojusAd 1 €A g [Aduw -
(A) sl AOS (B) uel quidl
(C) %3d -WIRs D) AR FMawr(l

s delanHl g s2 8 7
(A) PUdl AU 9. (B) &l o3 6,

(C) W 9. D) ofldl 2ux 9.

gagisy 589 s sl ?
(A) duusHl (B) MR+l
(C) Asler-l (D) Nelu-l

OIR-6lR AN MU © -
(A) WU+ Aol (B) &MUl

(C) 82 ¥ (D) wvld AUl

g’ vop o AR Ad SR UL © 7
(A) aubig 21d AR (B) Mol oMl 43 AR

(C) ol oigal-dl a3xlld 53 AR (D) ML M AR

s 2ivsgiHl 3edl Gelswil w9 ?

(A) AR (B) gl

N

© a (D) A

~ A

Yo, vl Ada g 28 7

(A) su3l Hld 8, (B) vdld ot-ld €.

(C) Ut 53 8. D) Hledl ™2 8.

S3/5/0/G—207-A ] 4 IR R RN

[ Contd...



19

20

21

22

S3/5/0/G—207-A ] 5 INEERETRRMR TR0 - Contd...

s 9d]l A1 58 7

(A)
©

udPram B) Asdl
ol (D) sa-

YR AL ARSI S eRLdld U Beny © 7

(A)
©

()

MLS-ot8 Ul B) -l
S ECIERIR] (D) UM~ dlsiMi

A 2w0el usDHidl 20 d ARl AdElAL FAll @il

() dsad ssal woel-l 2agisx u ol v As 7

() gl s3el usIRl s uR Al AR Wy © 7

(i) ‘@& ua’ el UASAL H™HL AL w0 o) gdl ?
(iv) el ddl sidelil geudl.

v) ‘Al QA sdy © 7

A 2«0el usDUidl AR d ARl AL Al S AsAUL @il ¢
() ‘YA A WKl UASA Minaad 39 ARl © 7

()  Hewurul oedl il sasiska g s 2y ?

(iii) ‘vadqe’ sl 2ddl © 7 d [ -l ol wad © 7
(iv) $14 Aldd-ll Ud euel »ed g ?

v) R WAL ARs ddldl el wRay 3dl dd sued ?

12 2ANal daldHidl A3 d 2ABL YAl Aol QUi ¢

() uslnl S22 4L su1 AU qAl © 7 ‘SlRU sl-ll UM Quil.

() udPy e Aol qu-quel ul 34l Ad el ?
(iii) ‘vl s’ sleml saA g ad © 7w e ?

(v) ‘ol MaReR’ sl sl el sa RR6DL ¥faye v 2ud © 7

(v) BB WL SleqMl sUL 2Rl siftls BUAWDL sEUL B 7



(v) 02 ubal yauddHigl AR d 281 ddlAl Adle WS AlsAHL Qv 3
i) “an AY AS A wARll” st s sui Qe sdl ?
(i) add ¥ Mol uAR Wy O, d Ul 3d sl © ?
(i) dAGel udlrul wA uivl W He sl © 7
(iv) ‘0% SlRAAR(l’ Sleul sUL AL LSl dUA AL v © 7
(V)  ‘Hsds’ st gL sl Al Ay 2w B 7
23 (5) QA asdl Qe AN s B 7 (I A aeL aw) ¢ 3
i) 3l sblsd el A Al A s3 77
() ol UM edl A s, § ddA g A uddl YY 3wl o) 77
(i) ‘U His 5% HeRy, W @yl 1”7
(iv) ‘ol oMM, dseR S19 Al d dser eslla A 7
(v) ML oldl yaldl-l g, HABL sl 9.7
() o} A 4 cuaiild eudelied we s 6
(1) “‘edl MUl 2Al YA, AxAL 9l wiel.”
() “‘laas sl »lu- 2l
o HIOUAL -lsl QL.
(i) ‘‘asadl [eoldl sauimi Al €ldl,
2ouAdl $HRA Al Aswul Al €idl.”
24 ¥ Q Gl YERAR GUR Avil : 6
() U 2 udddidl Al gl avi-.
() ‘s wsnl GuAdl il wiRadl wRldl.
(i) [ Hiss B3er ds-l alsaadl wizid asid.
25 oH d WS (MY U AR 200 weRHL (ojy qull ¢ 10
(5) wigdn
() A ¢ 98 6 d
(3) WA @as-d asy
(8) 2uuel @A-Hl UM Hetd
(3)  2ug] @RM o,
53/S/0/G—207-A] 6 (AENEAAEARARTICCIUERWARTIARGD - Contd...



26

27

28

AHIZ] ouHL Yesiad M2 32dis w33 YabHl W& Ul wa S19 nelldl Yas
EENERCIE R
w2l

WML Ras a3y sl qoaal ddled Renda-l dd-iE 212 qu.

oM d sl RAR-RAR U :
(5) oA A % uydal

(v) Rien Ruedl DA D,

A vl wyds ail A4 kel YAl T, Qull ¢
$5

Rl 2uR(l eten-fe: Asla-l 28 sa1d sdami 20 8. Wl sl vl
MIded AU, 20lls, qUlls, 2uUlES A9 AAHL ild APRIUIAL 8dl. d8l
‘o153’ 2L A 8. d AHA FHIRACYHAL Yaslyol gdl. MRdAeyM a0l g
gdl. otRd-l BA-Y ML, AY-Adl, HelHz), H81sRA) — ol HRdA Y
(Rl AR el 8. wReud etdar(lzidl 8ell-swll, 2di-l wWell-swll
Fdl dl, uig P WU HIRdAL LSl Wil Aslasd 2iny] siq581 53 @il
e de(l-sml tu-idl Wl O, d AL uLL AU .

ussdl :

() WAlASI0HL HIRdBA $AL AP0HL 2L Ul 8l ?
() HRAA MY QAR AR S8-S0 ) ?
(i) *Rd-l wWell-sell 3dl 8dl 7 uundl.

(iv) MRd-l sl S 2Aivg el 52 7

(v) Qe ey iy .

8

S3/5/0/G—207-A ] 7 INEERETRRMR TR0 - Contd...



29

30

31

ws WAL W™d-80s154L 400 [enl>0at ool efldl. axigl sener 2sd- 200

[enlll, HRL 2sdldl 50 2 s1o 2sdl-ll 50 A ANl 2sdl-l 100 [aenf2i)

Sdl.

L [oLdl ada 2dmul 2st wHEl saldl.

YA Hwo, @)

()

R el avl : (A} A 4)

wlA, Ay, A, s

-l el avl : (AR A 4)

R, il Gusiz, sl

AM-fde 53 0 (R A 4)

sialad, Yulid, uds, sda
30 e @l : (ol 4)

ue uiel oligal, Ml wdl xd, aladlon ad, yo Ardl
dosrHe W2 As e avll : (A A &)
ol Wl W .. ,

Sl R8RSR ..., ,

g e <l Adl ... ,

2o HIZ MIBL BMARL .oeennnn...

A Y wayds aizll d el adl @i :

AR Ads Mot Az — Glell oidal A Uil Awdl — Al ueasll soudl

uR g — Ml Gaalll WAt — [ — dlFRAl ddardl usikR —

AAAL 2531 — Yol Ads — oy,

W

53/5/0/G—207-A ] 8 IUETRETRARRARERAEAOWWD -~ £ 3000



This question paper consists of 31 questions and 8 printed pages.

Roll No. Code No. 53/S/O/K
Breee® Jo.
Set - A
KANNADA
%Qd
(208)

Day and Date of Examination

a’obegod) fat) ai)é_ao Sodean

Signature of Invigilators 1.

emz’g IArYelarieje e~V

DOTIOR, RRWIND ¢

1
2

6

QUARETH B B9 sob Bede HBRO I, et Jowo® wBabeled.

J

AN &R D B3B3 3abh RATO e NBE) eI T W) FHENY 083, Torle weY) BJ Y

(1) o} ] 2) ) (1) & 3 R C
*’,oos%ﬁ 3,08, a’&%@-’%&oi)eg DU DN TN a’&%ﬁeéo aingémﬁddbe Do a’obe%,%, D3NS
3300083, RdaIRAZAbe Kode Bded .
) () Pt
B K)a’g wf))%ﬁe?ﬁ A% eU3TBY a’&idoi) ﬁ.@a”oi)eg AeBMS ev3TrYodSe vb%&mgﬁe&).
dzn 3.0&23!3)&3 23¢0 ev8T a’o%%oi)eg 3Dabed evss —5093?5 (A), (B), (C), (D) obay, 203adeied.
DY a’&%ﬁ@m K)&saga *’,oai)oi)degoi)e ev3T 0Todhied. ai:’g&)ag’ wf))%ﬁe?ﬁ 238 IDoh=Y,
eBUTHFH Y.
K)ai)é ev3g3 a’o%%oi)eg 3@% DD K)&sa’g zsaﬁdeg aimg K)ai)é Breo® Jow0°® 28abded. mﬁecgde
23e8 @eDmod).ra K)ai)é I AeBLDTT K)ai)é Breef 30w0°eR), w3abaerd. 2otd Hed
BorieTer TR 0008 03B JTYPETYRY, WRPREINRIZTITHHTD.

R, B3, B3Bab Eeer® Jowo® 53/S/0/K-A ev3B 33 30be) WD,

aL (&L

G

53/5/0/K—208-A ] C AR reontd...



KANNADA
333
(208)

Rod 3 oednish | [RBF e903 : 100

e ¢ (1) Qen ZZAON ev3TrdRY CVITBHRIBS wSD.
@) B3I BZBY RosdnivRy VAN WBWD.
(3) B330s3, 1 Deod 11 B[R 4 eralyiva) EeBeRNS. @303 AATTHTIY
e FRE ev3DRD.

1 BaDeRE TYOND 3eDBRCT BRE -vrvreaennens 1
(A) 8.3. 664 (B) 8.3. 667
(C) &.3. 864 (D) 8.3. 764

2 BT JoNIRRD WV BS ..o 1
(A) Borided (B) Sonded
(C) BZDorided (D) =3

3 03003330 QDE BETIOAD v 1
(A) R (B) 859
(C) mee (D) e

4 SodhoNodbeN Be3ded QoD - BePBD. 1
(#) o5 B) 3,
(C) RBoR D) =3

5 o3 0h) IB[Y Js Beenl WDHIY 1
(A) 2B B) $O
(C) oo (D) Fen®

6 D33 DDINSD cevevvreernnen 1
(A) B3 (B) 3033
(C) 203 (D) 33

53/5/0/K—208-A ] 2Nt =y comet...



7 2EDTRE Q0BT .eerreen 1

(A) <o (B) 3eed
©) oD (D) =%

8 0330 TN IIW) /BT IR, 3302B0O3. 1
(A) 3Zeehd (B) A
(C) =odwe% (D) @R

9 JowNe] BRedDBT .vererereene |D. 1
(A) &o (B) 39
) 2o (D) Ro3eexr

10 'Browg A 83 IIB AaLRBY WHIB. 1
(A) g B) w@AeH
(C) &epedab (D) e03

11 I3exde FB0I eI 3eah ) WBTIAVRDIHT) eveurerrerseens: 1
(A) e (B) 3ehadY
€) wdabdd (D) erBrerids

12 391 &8l NNy Wwhdeord 39308 BFNOR ev3dd

3 2000 BOJD I,O JBed e3 VWOD WBY IR AVHT Qo GvrYT
SRl hotd. eI InFP BB, &T3 @ FPTENIVE aY fac;qi
5TNYO) [aeseN Ied)y, MY ad R woteNB. B3 WRWRH swe03THT
SBBexd. adde wdFIRHe T3 abeNd. abeshde Be3BY wod BDOTY IRedrt
779383 33T H3Qom 5O cleelIN adgodd 503 Beredn, rdeomd
5089 303N 17938 I3, BINT OB TTOTT[Y, 233 239,03IDTHT Bew,
OBD [TV DI, HD LEIRD BS BRHNY sHeS Jeoe AR B33 TY2IIBIN
B2IYNT. TR DR B3 2238 TFINTe D[, IB2W[orD S0 FHNOmeN
HoBRBR &N WPHNPod D evoezenRwIBRo) BIBDD JTBTTHTIN. ek
AR TP ANA BRIVY DR 3397 WeIdeab3aby FFhEewzes.

53/5/0/K—208-A ] 3 N O A my DA 1 contl...



=2 .
B, eleﬁ%?o :

(1)

)

)
(4)
©)
()
()
(8)
©)

$9EIB, AODDRDD vevvren

(A)  QecdIE3, B) @ se

(C) mioxes (D) BdFDe3

DR 2590 emm@d 3rtadush ot ?

(A) 30)25d (B) ®3BoHed
(C) e9Rcd30d (D) modR)2500

Q) e emm@d 3riadind s ?

@dFos obesdBE, ey obeNd ?

50 3% Tort aled aledn 1738 IWsY ?
LNBTN BYNTFHD abeshd ?

D abeHBEN BeZeToivses ?

ARed Freddeabheaha) Berd IFhdeD,TI ?
'ReINe3’ B3 I3 ei)d)cg B3 08D ?

13 230k IBID, WO, 33 I3NIN c03dHD
€3 S A& B o o

239038 Bedah 33, 3eh3
3moEE3 Bedah O, 2383
33903 R33N wabhwen® - wabwen®d
D3 3N wabhwen® - wabwen®d
nogd HDING SeBe
ToTl T8 Do JTBO
o) 2365 PO 0TV
B, T0DOT Re[W
- 9808 DTN

B3

(1)

)

)

(4)

20038 edod I3, -
(A) ¢33 (B) 233
(C) &cv3 (D) =38

23903037 ahwend.

03 - BBE, OVR IJeTPed BTNYTY WBAVD
o) 2365 PO 0TV

Rxy) Wexd) Pond DB BeRI bR, WBAD

B, T0DOT Ve[WO.

B FAohIY Vs 4 BNRY BITIY, w3AD.

— N = NN N =

53/5/0/K—208-A ] 4 =y come.



14 To3aledn IabIy Red o3, TeRTD ? 1

15 Bpednth alnd g ? 1
16 333 e ol ? 1
17 4330930 @083 w cdREHD ? 1
18 (a) ™OBBALBBR B&bodobh T8 abedod BB ? 1

(b) 3,03 B3,ab, W HITI3 - AO THodR A3 3 ? 1

19 3IAIPHNOR ev3d2d
(a) BODI IBNYD bHTedBe HTERY DBD WTAD 2
(1) e%03
(2) 333
() e

ZTaar)

() @ODF AbHTED HTVER), 3D BAD 2
(1) &3+ o3
2) o + Ly
3) D@ + Boeabe

(b) 'Ro3' BZab Bedd 2 F IabedID. 2
ZTaar)
(b) 'wor' BIEE JowHD HTBD BPRII, [BD.

() 3PEITR FFNYD 1T AVODN 3R, IDZBT 03D 2
(1) IDBHEND WINI WTBY HASD
(2) SedB BT 3B, HBobeI

ZTaar)
() 391 dpcedsl abe)hmerdBe 2TRE, BeelBT BAND 2
(1) ese3
(2) 3o8&
3) &S

53/5/0/K—208-A ] S LA AT 1 come...



20

21

22

23

24

25

26

391t SRS TNV alpHmETe HTHER) Jewd, MERYS B aleensd.

(1) 328
) 3

(3) HweySetey
ORI B B3P ol PRI JobDBY WHIF ?
DB SRAY DBIFY da, FPBNYO VWD

BoB DDRT 3D THNIRY Bert ATIJEYI ?

Q

HB0F) BB 2003 Fredaby Ver Iede v ?
ZTaar)

P33 TIF) IBOLD

303 S IBNYY abesd)medtBe HTBE BB PRI, WI2EROW
OBPEDPLETIN ), DFMYD 23D,

(a) wak/met
(b) B3/

(c) 2D/

2+2=4

8. O, 9. ITMBOZWOR BFed ToweRIabRY S9N EeEITIF os-e03TY

ABo0hBod ITY B0z} (Bor) WI [, TAD.

DIRE 1991 1992 | 1993 | 1994 [ 1995 | 1996 | 1997 11998 1999 | 2000
e,—ii)a?eé [apEalJpk:! 6 8 2 5 14 2 5 7 9 20
ZTaar)

5

53/5/0/K—208-A ] 6 AR A YDA 1 contl...



Jezd) Doz ToaledabID), AW, Fedo3 TIYET, ©9O,83, De3oPHT RS @S0 400
BRZIANNFR), 30HIW DAPBET® B I3 JaRD.

9 ON,
€902,
9023 363D ...coeenee

0038 WVeLBE TS
RomodhdB Bee (23TNLY) ................
TRwocND (RoBaDD) .o

53/S/0/K—208-A | 7

3&HRBIT

o8 @ THTIER BT,
AT 1oL J
BomedAT 9023 BIWD

RV RATNAN 1 contd...



27  eeseNaob m%&ia&& K)ai)é aiméaﬁeéeg 2230 5

28 &s m%ﬁ%ﬁﬁ)@l 28, deBee33308 - GLIDID. 1x5=5
(1) obeRZID Pox BOBTBYN T &AL (HFTABBY 03cd)
(2) TRD TIRIIY, HecoBD: TRV VBT VAIBRB ..ocvvvevee
(3) ewdeD : {TE 1 Ty-8ed :
(4) NTe3D TS D8 BRI 393D
(2 @desod SedR 283)
(5) HIoP 93D zsgde?oed B30I, BBD.
(a8, PYIRS® o IDIBEAD)
29 Jexdh RBe3d/Tosdodzs ReoPHINT, AW, ST 2R WYALoITD), I E3d 7
ARAE DHoBY HRAD @R T HeRNIFY VBB 80D 201 BY, WwBecd
ZTaap)

goriwdnetdeah IS erBBe H$38 ToSdalecordTY 11 IJe ITVNBHY  wameon
FP@DDE IohIDeeT/ToBTo DoT) RIVZRCOBD TZHRINT  23eoniARTIOE
s, FoobBON TR eI BE, €20 Ty WO HBI, WBAWD.

30 B3 39N BRI abeFHmedde woddy BB 50 ézgﬁe?ﬁ QedZod - XD 5
228D,

(1) 838 Beed o3 e 803300 2T
(2) BRIN03 IFDI SeR.
(3) 3y, Becosdl & Breod ?

31 83 391l &R THE ARALNPD abeshmedde 2,083y BB 200 YRR wedBod 10
BOGRIY, 2BAWD.

(1) Rodde Fgried
2) BRBeod RRNAD

(3) 33 DY ese3

53/5/0/K—208-A ] S [NUEMA RO vooo



This Question Paper consists 42 questions and 8 printed pages.

ARA 9990 42 el TEH 8 Higd ger: |iwl |

Roll No. Code No. 53/S/0/S
3@3 ! E Set - A
SANSKRIT
A
(209)

Day and Date of Examination

(et fagea)
Signature of Invigilators 1.
(Friverrewner)

2.
L1615 GG G| R

SIHTE: THTISE FAHYSS SATHE ;|

2 Friegdm aq 99T TSoHET TS §6dT 9 THHTSSR 9 JirdHeaea o1 |
T HHGETE A |

3 aegreusy (A), (B), () a1 (D) Rrbedy wisfr wd wui faen gowmedo waw
ST-gRasMel faeq |

JEJTSeUeTHed TRUYSTISE SN MYiaemy T wE@-En |
STRA®ET TEaraed SUar AN MCHaaey Shagaay ga91 ariaq
ARA |

6 wW-INYRHEET YT Fe(@e) de 53/S/0/S-A sm@ed W |
53/S/0/8—209-A] 1 IRTAVERMVANAICRETARINARMAMED - £ Contd...



SANSKRIT

RIS B P e 7 B o B o Sl e i et o

(A) TR (B)
(C) 9™ B (D)

HUa: el wia few T Sufgeriq ?

(A) gyl w9 (B)
(C) dieMY B&Ta 94 (D)

FAGE T YT T -
(A) UM ST (B)
(C) omvgal for wsia (D)

53/S/0/S—209-A |

2

ERELE
g

T&T1 I
wylgy erridar wq

Y wE 9o
R

&R
(209)
T 3 B ] [quitzr: = 100
e
(1) oRe g feamamtieT 9o |
(2) vd e e Sign grEdn |
3) = gy sfEmEi: |
s — &
Taq e qEe AR — 1x10=10
(A) gfa: (B) 4
(C) (D) 9frE™
CILCCHIRE I Bk IR EO DL
(A) =B (B) wg=ATHIIM
(C) TUNNIATHI (D) ST T

INEERRTRRAAMAEEVi - £ Contd...



6 T Igw o waitn qai awe s A sfa ue &1 faute: 7
(A) v (B) fadar
(C) w<H (D) W

7 WEMI @ gl SO 4@ 3fd 9§ &1 faufe 7
(A) g (B) wsdl
(©) i (D) =gt

8 TR Hgd Srawd IES (Q@lEdue & AwI
(A) w< (B) fafufes
(€) @ig (D) «%

9 ‘g wIEEY fqwfd sfa A= (@ifed 9§ Sgaed 6 Afasfq ¢
(A) Tasst< (B) fassa:
(C) fuseg (D) fassq

10 T b ud Afgafa 7
TdTEs  fEaR<aEst A |
(A) = (B) wfa
(C) &q: (D) ®EW

11 q T Hard 9 Iohaaiad @A aodiel ATAEMT-Eaa gaard’ 1+1=2
3fa e feamuesd fea 7

12 A=A BT gosma qad | 1+1=2
EETERIN IR R B IR RS B &k o PR (- O B 11 A e R e B T L O
b uegd wgwaq

13 arfyy: weifead ofe famme dea e | 1+1=2
FEIHAHY § I38 gAd |
ST ®: HBi FANd 7

53/8/0/8—209-A ] 3 INEERRTRRAAMAEEVi - £ Contd...



14  Feffdiad egiyl wfswn 9aausr suid — 1x3=3

ga=:  — o | fefieml d=Emm gemn |
qE@ | T U GRS TgEm |

TG — o & Wwe: ¢ UwEg 99 FefateatE swued o |
srarsisradd reTEmaET |

ge=: - pa@ TIRW e gk ¢

TEhY: —  WIEd: TRaEiEf R |

qe: —

(i) TEha: I HGIH FHA ¢ ™ d TAAT 7
(i) @@ PIBRE FA: AHAM 7
(iii) efsadrdy 3fa fagiwora fasrsd feq 7

15 seifafagaal: safaesd aiEaET o arly gw@pad faed - 1x5=5
HUG: FUT A

16 Siad FEITNET STATEgHH | 1+1=2
e 94 9 s« afa W |
sl (i) femd @ i 7
(i) » Siad SeneEgeHE 7

17 @A I99ais® GRTg: | 1+1=2
7o wasfyan: wadw gEenn |
sEsl () wEdw 3fa framew sque feq ?
(i) weTEr Wil & SeAad 9edia 7

18 SRR U T &ead Hikmwst 4 1+1=2
Trar fatgfaal qewd faggan
@l () &9 oy 9 o owE® s=d 7
(i) ‘@At F@dT o wged

19 ‘% Ui gRZAl SN eWHUNT:’ S & fh geedar yEE ¢ 1+1=2

20 ‘oiioTE @q HEeEE 30 UTe: dEq R @ RE: ¢ %Y a™ 1x3=3
w@H: 7 o & fqua: At ?

53/8/0/8—209-A ] 4 INEERRTRRAAMAEEVi - £ Contd...



21  rdfafgqueiye Aqared e goa — 1x3=3
;LT —
fpfiresta T @1edi, qU=i & WO fea |
B T GaAGAM!, AEAMEIAE
qad: —
S @it fem gt ?o()

S | gAN 9E asdE: & 7 (i)

| g (i) feasmt foq 7

22 FAfARIAETERY (@IS qeae gag - 1x2=2
() T [qEaeHEn ged: YU U YRS |
(i) wod 9@ s fFefar |

23 yown 6 veEd 7 gpd @ A ¢ 1+1=2

24 ‘gop: o WUWAA: (U™ O NN STeHAIgEl eSS 9di s&s  1+1=2
Tedge %: fb geafa ?

25 T g& AEUd @S W | Gaevd YW= UTe—sTel, gomiAed  1x3=3
qqAT | TEIT STeeHAq |
() @: @Ml TEF wWig T gt 7
(i) wga=ai: ofr f6 wgfresfa ?
(i) o sfa ot 76 wemw wgwq 7

26 HIOY HAY ghedw T fEd | 1x3=3
g U g W Sl aey g9r

() @me P Raa 7
(i) @[y #RY 97 ghe: T a7
(iii) 9 ¢ & ada 7

27 wWEfOeEHE o™ W)Y v ARy faed - 1x5=5
() == T 9

53/8/0/8—209-A ] S INEERRTRRAAMAEEVi - £ Contd...



28

29

30

31

32

33

34

e
SIIFFR AR
HHfRgauey | Far fwed -

() o TN YRa™ E@Rd |
(i) “AfafsE & arEEg |

ard pan faea -

() s + e T

(i) S FOF @EYAl aq + Bde wEe |
(i) 9@ TIEaR: + S gaHenaed |

refaRaaeT TR faea -
%, 9

fraraer it wised ygaes: qfaq—fanfm—yam geq -

(i) |1 g fga | (9q)

(ii) 3% Tgu garrr sar e | (B
(iii) @Y @ ofgfd: wHET q: | (g39)

(iv) @ ! 7 »isfr s fa stafa | (g=3)

fFmamy sgm @F deaEsTet faea -
(@) 6 T T |
(ii) 3 e wHm

(i) a6 gy S5 st wata |
(i) @ H g ¥ 5 |
(i) Tt foag wxr fad |

3fa TEnigauedl: & 9ig: e AHIe 7

FNfaRgaaredgy  fhamey asga —
() wE gEd | (S + e fafy)
(i) TgEd See<Es Ad | (81e2)

1+1=2

1x3=3

1+1=2

1x2=2

1x2=2

53/8/0/8—209-A ] 6 INEERRTRRAAMAEEVi - £ Contd...



35 @izauawusan @l @ faea - 1x2=2
() gft: @ sWswE ofaq shearmrs: |
(i) wow giafe e e |

36 aruifaiad farswm gawud foea - 1x2=2
() Fumn ghks: @ (@)
(i) we== o

37 faaem & w© «fesfq ? 1+1=2
() ¥ i wafq | (srgw / fewn)
(i) @ M | (TaEgd [ vaEa:)

38 ey Ry goa — 1x3=3
(i) ®aE FE THI | ()
(i) afx = HEq dfe g& gfa @ | (33)
(iii) BT TIHHAT Jwfa | (vmal)

gog — T

TIATRITE,

39 arefaRga oTged ufoml YeAWeTNM SORd — 1x5=5
ST ST ST ST | TR ST, Sieid, BaRAT (Hed S aidTed
i | e i aen oreTe St gUdd wafa | sffea sae TR e
9G4 qgE qHM: | 38 S HIGRATeE SUH | TUT greositg qredid i
T | ARAYY TSI AR STEEHed | $99 STENH: oTeiel qemET, e,
IR T | ST Wl o|Rqad U | TR 39 gl | Raeamar 9 | aad:
st srem: M |
qe: —

(1) orees it & T aen: gaad Wt ?
(2) @@ P et g 7
(3) @& W@ WA a7
(4) ‘wafw sfa feavew #wgue fem 7
(5) ‘sEW oI SRyl qEHET 3
IR TN AR Y TgEH

53/8/0/8—209-A ] 7 INEERRTRRAAMAEEVi - £ Contd...




40  Freifafad fqoemifaga AWUEHEEAd TRy UhAgws faed - 1x5=5
SRIEIRE
A

oo, dgd: HeM WWE:, @i, SaaMi (3R, Jeon, TR, % 98,
IS wedl, o, eed:, §al a9, HEgla:, §d, AGME, AT, FEId |

41 A ThYT: BEEY SEYIEmiS adid | vaq: e depdicay ATafah—sRars™  1x5=5
3 GRpaAeRE HeE Aigwi | 99 WA iy offhed eitsfa | @iigHeea
gfd o ufeng Fe=ods, deuEm ued: g Reaneeie Rt faeg -
SAqY farmdis EmEmE:

fafer:
qRETEXE: fUgHeEn:
el THIR |
T o e () — Iq faam emmfy (i) U&pa fqaew STt
Aiqwafd | 9 (i) — M Aed TRgEd | gaked (iv) STEHMY STfyed
(v) | WM AT 9§ T SEsaHd 99awg |

qaar o g
T[T
AT
42 wdifafad fos gsar oy Ry 9 Hed — 1x5=5

faeramestl wd, wav gaew, d91 Rt ofteen, i s, S,
g, 989 9L, SIA:, WA, TSR, 999, SFEd, e, gHmd: |

53/S/0/S—209-A] 8 [UTRVEAVAD VAN ATT0AN0m - £9000 ]



This Question Paper consists of 14 questions and 8 printed pages.

fer yps-u37 1S9 14 yas 3 8 Hefds U 75 |

Roll No. Code No. 53/S/O/P
35 &: niat fem as 3. Set - A
PUNJABI
CEk:i)

(210)

Day and Date of Examination

ufefemr & fes »3 TH3t

Signature of Invivilators

fadtuat @ eAds 1.

2.

nH fsaem -

1 fefenradt § yps ¥37 2 ufed 1% 3 »rue a0 w3 98 duv fguer agdt T |

2 yEs U3T € A Ufent § duer w3 wier Agdt § w3 yps U39 S ypst € foresh
€37 yA3a & GuT ufom & 3 &1 du7t 3 fumal 9t It 95 | feg & 2for
e fa yas U377 v yps 97 (Ales) nigAw 9= |

3 nERafez ofeu yrst faok fx (A), B), (C), (D) 75 fe¥ fex & § dae § »2
sta €37 & €39 yrsa ST fafmr 72

4 w9 yAs U3T frost few nradafes efeu yps &t 95 fea AW migAe 3t 398 78
faQ@fa dg »gar AWt ad1 f&sT A=ar |

5 JEt & faAs A I¥ duv €37 yAsw ® far & FAar 3 9t de e, 91 3
fefenradt & ydtfumr 3 wo9 a7 féar Ao |

6 €37 yrsa 3 yps yAsa T $ud 53/S/0/P-A w39 fgd |

53/S/0/P—210-A ] © MR ARYEA AT A v cont..



PUNJABI
(dar=)
(210)
Time : 3 Hours ] [Maximum Marks : 100

AHT ¢ 3 uid ] [d5 nig : 100

32 - (1) A9 yrs' € €37 Agdt 95 |
@) A3 ypst § fors 38 ug M3 Gust € €39 fey |

1 33 fod 1@ & fors 35 u? w3 @n Addt €3 ypst ¢ €39 fou - 2x4=8
‘nifoiua i fesrAs 78 98 & Su-J9 AuHsT T Hea dev 3 1 €9
ufgnr fafiorr, AR 2 39 Ba 58 737 du fare, AeT, A/ AUAT w3
fewsew fesas Jer § 1| €9 gus T fis, =95 v var 3 fgge & wags
fed iGuacedfarmAferIsuGri A fdas e Aaer ¢ 1 7€ €9
U 38-38, f8a-f8a wiut 2 Ffontt & fasw @ Jafert i dfonr § €R
e AUTE 93, fagas fanfds 9 7w § 1 €n & fewn ofg @ wiorw § fa mra
€r €3 wdls 9 3, # & Qv dHfenrt § TR, faodntt wreat, Gost f&
uygar, €9 dfent »3 Wit mEt mgefea desitnt | HU Aee I8 fa
niforus @ gfentt dfent § It wze a1, 39 a9, o7 &t
nforus dfentf g H T 3 oz S T 1At S der In § €
e dfenrt & fAfunr 22, Gust f&v d9t, feasew, e w3 fod A3 3
ygAT 339 € €9 megn Tv®, Aiodt g€ UTT 995 3 JOi9l 9 341 €@ AdEr
T 1 dH 2 HI3T T mforA wifanrus § Su 3 S Aeadt yus w93 € 3
dfentt @ ATOHE mud fuams, 991 nreaw fesrs € qu €9 Jue & Yee féer
3 | fer mEt nifonrua €9 fesAs vs, # fAesl 39 umer gfder T |
(i) BuIas &3 ne-f33 U3 fEv fam a9 =ves iz fomrr @ ? €W =%
ot fagr fomr g ?
(i) Suda3 AT wgAw dHfent € fAreE<l far €3 ud WU IIAT F9€
75 m3 fa€ ?
(iii) wiforug AHHE =9 ot RS & AIE< Jer T ?
(iv) offormua frAest 39 fa@ umer afder T ?

53/S/0/P—210-A ] 2 AR =r comtt...



2 T3 fod ymst € wAat feamu v, o9 fea = foa nig T 1x15=15
() Ut f&v fds =7 g 95 ?
A) 2 ®) fis
€ ¥9 D) W3
(i) fam mae 3 far &0 2 95 A I T ugerer=T 92, €F & S affe us -
(A) ugstE (B) AITHS fafont
(C) wnidggHa fafont (D) fafonr
(iii) ueg uzg foor I, fem fe&=u faodt fafonr o
(A) AIgHS fafont B) rwofea fafonr
(C) wagHx fafanr (D) uzT dt
(iv) I fofmt fe§ faow wue fensst fgar aaf o °
(A) niar ®) g
©) <u D) &
(v) 95 f&3 muet &5 fam mae o fda =95’ qu & 9 AaEr @ ?
(A) B B) FI
© u (D) Jaht
(vi) 95 fofimit f& faog womue =9t T
(A) fai (B) »hu=
(C) e&a= (D) feet
(vii) ATt ' fgg ‘=vs’ 9§
(A) nEE (B) »mR

(C) wmmr (D) =g
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(vii)) 3913 fAw ¥ 2@ =t gogat fedt
‘FeER’ mEe T AG feam T o:

(A) #Am d<t B) wges f&H
(C) &3y dizr (D) drEt Wt
(ix) ‘AT®’ T AHSTEd HEE &d1 T
(A) BI= (B) nAS
(C) weat (D) Fur
(x) W Uar = dar Sl § 1 fem == & ferme mue T :
(A) ar (B) dar
C) 3Bwr (D) wet
(xi) HO HEE AF I&
(A) HET (B) Hed
(C) ¥ee (D) Heed
(xi) s9us e fAdt 8t & afde O3
(A) fewa <t gt (B) w3 ¥ g
(C) wi-at (D) ¥m@ © g%t
(xiii) for9’ mEE T AJIl AWSIEE HEE T
(A) dF (B) 39w
©) fe=w (D) feddt
(xiv) fous’ mEe v Adl feudtzoga mAae 9
(A) wHle (B) H®E9
(C) us=S (D) us=E

(xv) €v I3 & afoe I wAHT" A |
WAHIE HEE T A9l feasy &t ¢ ?
(A) »ASS (B) @
© I (D) SHT

53/S/0/P—210-A ] 4 IR T r Contal..



3 93 fod nue w3 wo=font & uer aF ¢ 1x5=5

“Adled, HafAE »2 AHTAE 37 3 A9 &4 Tt 3egA3 I8 T 17

‘DA T HIY HSTAE »3 wdlea fandnt a8 HafAg w3 AW fan<nrt
few faore fuge 7 foor ¢ & dw, 3v, fAgede, Uecese =@ Adled deit
¥ 3 99 99, A9 I3 7 99 far 3 2 wugdt § wAt wsfra Jor Afe
AIE T I

5 3 fou poet f&§ € @ gg-wiged @4 g€ 3 fa »igg miAe ¢ A< : 2

i B3

(i) =t

6 dIs foud fefmrt fS5 far fea fer €3 =orser 250 Age’ & sy fou : 10

() ‘H33 S Faar e Ifomght 337 1
(i) HIT »EgTAs nifoua |

(i) »HE9 8 3 3 TIM |

(iv) AH € FET |

53/S/0/P—210-A |
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7 oy fifzs § U39 fewd ¥R fa 3mem férdife@e »rs Gus wmafdar 7
fég Xl a3 f&¥ 2015 & feufsos sEt dA=t sH nids a9 fedt 91
ar
far drret wraEe 2@ Aues § 3w om w3 8 & Aofew mofesT

ITS BEI nmiis THS U397 33 |

8 fAvs u wofes wmfs dew nifs W | 5
efe fa »r=fo wr afv ofo fosm fag
“fisz 3t o ge Ifomrenrt 337 9T Faa 2= At fegt dordhrt Eorer
H3Yl fies =Et ot Aew € 99 I5 ? €39 100-125 muet fev fou |

I3 gy 37° dinif =99 mIE, I Fu TG I
9% g4 AT §8 TEOE, ysveer o=

FZ Ty Wt et =9el, wet uw=e =t

Sudaz Ffe-rast fov at 3 dut ot yfgdt yFt nue funre & fad 3=
niem f&w U@ di3r @ ? €39 100-125 muet fev fou |

9 ‘A Foet w femr =Ag &t ¥ 1 FwEt @ wrww 3 100-125 mue 5
fev f&g

10 ‘feaieit adivs’ fed nrue far fEa Woure usg & u39-@At 100-125 5
fés a3 |

53/S/0/P—210-A |
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11 ‘so3 fAw & ot Jare 3 ufos »rue g976 T Uy F9fadt »iar um fa@ 5
41 At 3T ? €37 100-125 mger fe9 fou |

12 35 fou ymst 8@ €39 fea-fea == fev fod | 99 f&a Aat €39 = 1x12=12
fea »ig 9 :
() < 7 I »afg sdie a8 fous 8y efle # & a8 By foue
Iats=w T ?
(i) T9 we 3 fe=z @t & Aoy fev o wmyeEl @ °
(i) AT HIHE & ‘Aofde dag’ 3 &t = T °?
(iv) ‘Aegar € Sua’ fam soddsw € Jo<t T ?
v) 7% ot fev fam 33 & A5 € o St aret ¢ ?

(vi) et =<t d@F, fea-ga 3 ofet medhr 8 st &t St Us, &

Al fem 9i® & wAfoHs ¢ ?
(vi) ff: 37 fAw »gre uefra dies & oto fad gy 3t 9 ?
(viii) A: I&AI3 < sA9 feév B8 gIget 2 &t = Al ?
(ix) 7: zaO3 fAw gy 3 faor feswt @ uwat At ?
(x) @83 #a & Yovs (@5 38 t vz Jer T ?

(xi) Heg s wU feg I9 faow fuAsst § fAm 3 #da9 femew

JgeT T ?

(xii) Hafsx Heg =@ & usat & ot drer § ? fax @F & dm gue fam
Hagdt &9 B2 ws ?

53/S/0/P—210-A |
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13 J3 fou ymst @ €37 30-40 mue' fev fod 6x2=12
(i) aS: usleH Ti3a 3 fesAess afesr fév & Asar fezr @ °?

(i) ==t fAegHe Fewd & U afesr feév ot Ao féar ¢ ? @
€v fag Haeer T ?

((OI:

(i) STtaT ml3 d9 Avel 9 fa I’ vy 3 oruSt STt uw St Aaar
fag <t 8@ & €A & Tt fdst S =t fwit ¢ ?
(iv) 9Q 3= 8 it € Ha &9 »rudt ST it sadt yIt &t s A ?

(v) 7: Imeyr fAw {3 sd nue 8y ‘T3vese fev ot erer d fa Aegsr
far 997 & waw ¢ ¢

(vi) A: ISt fAw wue mest & ot gaw @ dfumr A ?

14 T3 fou yps' 2@ €37 souar 50 muet e fou 2x3=6
() “<dter A& Hau wdtnt €3 I mE fe3
firdt uet n3mget dfe & A fHz”
Tdle At Qusas mla f&v ot Quem @ 93 Ts ?

(i) dIecT A3 € faudt o Aed IdacT Ul Enrf niwt Ho fSrrt 9
It ?

53/S/0/P—210-A |
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This Question Paper consists of 36 questions and 14 printed pages including 5 figures + 1 page of Graph.

39 YT # 36 YT % 14 iud go forad 5 fax 991 1 yss W H1 qhfad 2 |

Roll No. Code No. 53/AS/3
AIRUTH @ .

Set— A

MATHEMATICS
(o)
@11)

Day and Date of Examination

(wfien =1 o= 7 fe=i)

Signature of Invigilators 1.

(Friterai % TEER)

2.

General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 Write your Question Paper code No. 53/AS/3-| A | on the Answer-Book.

7 (@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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QA 3R

1

2

53/AS/3—211_A |

TUETET 9795 % Bl I8 UX U1 SThHis oAy fag |

HUAT YIS B S o 6 TTIH & P Joof a1 AT @l a1 & WE&AT & STl god I3
% T HUL BY 5 | 39 9@ B S A B A 6 99T wivd w0 H T

JEFTSs et ® stmuml IR fawedt (A), (B), (C) T@1 (D) ¥ € i3 Tk IAX g & qur &
TS TTR-gRasl ¥ T wE wa fafaw |

IS U9 b FE—A1 G U9 &b S e orafy & 9aY &1 &9 § | aggiTss get
& fu o 9 g9 TRl R s

ST-GRa® ¥ TEAN-Tae a9 sreEr fids @Mt % sAfdie ®el 4 SgHhie aes 1%
el Bl ST AT SR |

AT ITX-YRAsHT T 99T Bl His de S3/AS/3-|A| e |

() WTUA had /ST ¥ & | Y o, afy o o @ A Y T8 o ue 9w § S}
T ghd ¥

Siepull, AT, STHRET, U, HYHI, @@pa i fer |

FUAT TR—YRadH 9 Y Y S § T % onw few Wt § o fow W@ R

(@) afy e &t ua oS % arfafia fpdt o o & SO foad € aF w9 &l aus
¥ B ol Jreat | it e daa s g

o

RTRATRTRTNNRANID 1 Contd...



MATHEMATICS

211)
: 1 :
Time : 25 Hours] [Maximum Marks : 85
1 :
w2 A [qouife : 85
Note : (1)  Question Numbers 1-10 are Multiple Choice Questions. Each question carries
one mark. For each question, four alternative choices (A), (B), (C) and (D)
are provided, of which only one is correct. You have to select the correct
alternative and indicate it in the answer-book provided to you by writing (A),
(B), (C) or (D) as the case may be.
(2) Question Numbers 11 to 15 are very short answer type questions, each carrying
1 mark. Here the answer can be one word or one sentence or as per the
exact requirement of the question.
(3) Question Numbers 16 to 25 carry 2 marks each.
(4) Question Numbers 26 to 33 carry 4 marks each.
(5) Question Numbers 34 to 36 carry 6 marks each.
(6) All questions are compulsory.
(7)  Questions requiring visual input have been explained in words in the question
itself or alternative question is given.
et ¢ (1) usT d®& 1-10 9% gfasedl 9T (Multiple Choice Questions) & | T®
U9T T% 3% B 2| YA® U ¥ 9 famem (A), (B), (C), a1 (D) fkw Mw
g, T § %ad % Gl 3| oS Wel fa%ed g & U UdE U &
ITY SOl SAGRAET § (A), (B), (C) tgar (D) st A1 Rafq =, fawet
goiT ¥
(2) UeT & 11-15 % Ay A &% UBR & U9T &, TI1 &b U7 & Tk
3% ¥ Tl 9T W IOX Uk % H, Uk A9 § AT YT Bl AL
% IR & T 2|
(3) WT W& 16-25 T TA® U & 2 3% T
(4) UT W& 26-33 6 TAB U & 4 3iF D)
(5) LT €& 34-36 TH UAH U & 6 3HH )
(6) T weT sfEd ¥
(7) U foed Ay FEe @ oEsgedr ¥ %= U b HiaY ol H wesmn

T ¥ 1Al debfeds W9H eI AT ¥

53/AS/3—211_A |
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1 Which of the following statements is true ? 1

(ke R A 0 < 7 < M S

33 4on6 3 3V (3Y
@ TRT =) ® (55 -3
3 2
°) =2y R I
© () =0 ® (3] -
2 The numbers 3 45, 34 when written in descending order are : 1

demat 345,34 @ sEiE we W faey o e o

A 35,.3¥4.4B B) 45.45.34
© BA5G ©) 5 ¥ 45
3 What percent of 360 is 144 ? 1
360 @ o wide 144 & 7
(A) 40% B) 250%
) 12% D) 2.5%
4 The cost price of 10 articles is equal to the selling price of 8 articles. 1

The gain or loss percent is :

(A) Gain 20% (B) Loss 25%

(C) Gain 30% (D) Gain 25%

10 a%gat &1 %9 T 8 a&gell & fahd Y& & IUE §| @ AT B A9 ©
(A) W\ 20% (B) @I 25%

C) «m™ 30% D) ®m™ 25%
(©) (D)

S3/AS/3—211 A] 4 RTRATRTRTNNRANID 1 Contd...



5 If the angles of a triangle are in the ratio 2:3:5, then the largest angle of the 1
triangle is :

s U st & @O 2:3:5 % U W &, A BT & GEH T B F
(A) 1200 (B) 100°
(C) 36° (D) 90°

6 In the plane of a triangle, the point equidistant from the sides of the triangle is 1

called its :
(A) Centroid (B) Incentre
(C) Circumcentre (D) Orthocentre
s B & q@ H, SEd dFl qeetl ¥ eged g weamn ©
(A) ¥ (B) oid:hs
(C) ufw= (D) waH=
7 From external point P, two lines intersecting the circle at 4, B and C, D 1

respectively have been drawn. If PA = 4 cm, AB=6 cm and PD =8 cm,
then PC is equal to :

& g P ¥ g9 @ &1 Uiaesdl W@l Wil 5§ S gd B HEs: A4, B qel
C,D W ®Edl & 139 PA =430, AB=6 99 Qo1 PD =8 AW &, di PC ST
3

(A) 5 cm (&) B) 3 cm (I)
(C) 12 cm (9HY) (D) 5% cm ()
S3/AS/3—211_A ] 5 (IR 1 Contd...



8 sin* A4 —cos* 4 is equal to : 1
sin4A—cos4A SEISEEE I
(A 1 B) 1- 2cos” 4

© o (D) tan’ A

3s5in219° + 3sin? 71°

9 o o 1 |l to : 1
Scos? 36° + 5 cos2 54° 0 A 1O
35in219° + 3sin? 71° \
Scos? 36° + 5 cos254° o T
A 1 ®) 0
5
© 3 ®) <
10 Two different dice are thrown together. The probability of getting the same 1

number on both dice is :

& =T uEl @l sHEr $eT TN Tl UEl WX Uk & ' b AN @l
TRIeaT ¥

N | =

A) 5 ®)

5
©) 1 ()

53/AS/3—211_A |
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11 In given fig., £B=4C and 4B=AC. Prove that AABE =AACD. 1

@ ™ omfa ®, sB=2C qum AB=-4C ¥\ fag BT 6 AABE=AACD.

B
D
A O
E
C
Fig. (smef)
OR |/ 3l

(For Visually Impaired Candidates Only)
(e efe fympem fafal & fom)

In AABC and APQR, ZA=/P,/C=/R and AB=PQ.

Prove that AABC = APQOR.

AABC Q91 APOR ®§ /A=.P,/C=/R T AB=PO.
g Wiy 6 AABC = APOR.

12 ABC is an isosceles triangle such that AB=A4C =17 cm and base BC =16 cm. 1
Find the length of median AG.

ABC w# gafgarg Brgst ¥, e 4B = AC = 1799 ¥ d@ BC =163 3|
BT AG B WE TG I

~

53/AS/3—211_A |
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13

14

15

16

17

18

53/AS/3—211_A |

) 3
If sin 9:? evaluate cos0-cot 0.

) 3
Tl s1n9=g T, d cosO-cot® HI HM IMNA BT

Prove that : tan® + cot 8 =sec8 - cosec 6.

firg El'fli%ﬂﬂ, 6 : tan® + cot 6 = secO - cosec .

Construct a cumulative frequency distribution table for the following :

T % fMu e dedl SERar 29 |l R

Class (=t) 0-10 [10-20 | 20-30 [ 30-40 [ 40-50 | 50-60
Frequency (ssmran) | 3 10 24 32 9 7
N 2 7 8 37
Simplify : | =2+ =-|x—+=—.
plify [3 8} 25 15

A BT [3+lj 3.37

X :
3 8) 25 15

Multiply 53160 and 113400 and hence simplify the result.

53160 & 113/400 ¥ T HFT Jom SAX B @ HifTd |

Find the sum which when increased by 15% becomes I 19,320.
T8 TRT o @i S 15% sem WX ¥ 19,320 & W)

=]
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19 If the mean of the following data is 18.6 determine the value of p : 2

gy trefafaq offest &1 Wreg 18.6 ¥, @ p &1 AW I HINT

x [15]16[19]20]p
713 18 [5 |4 [10

20 In the given fig.,, OD is perpendicular to the chord AB of a circle with centre 2
O and BC is the diameter. Prove that C4A =2 OD.

& ™ smpfa ®, OD %% O I 99 @ Th SiEl AB WX @9 & a9 BC 91
& A ¢l g Y 6 CA =2 0D.

Fig. (i)

21 In the given fig., if AC = BC and AB is the diameter of the circle, 2
find Zx, 2y, 2z
@ ™ sl ¥, A AC = BC & Q91 AB g9 &1 &AW &, @ Lx, Ly, Zz
A BT |

Fig. (i)

OR |/ Jqa

o

RTRATRTRTNNRANID 1 Contd...
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22

23

24

(For Visually Impaired Candidates Only)

(Faw zfe fawam frafdal & fog)

O 1is the centre of the circle. Points A, B, C lie on the circle. If /40C =120°

then find Z£ABC .

O 99 &1 %% ¥ figell 4, B, C 99 W Rea ¥ 13t 2400 =120° %, @ 24BC
A BT |

Find the diameter of the circle whose centre is at (2, 0) and which passes

through the point (7, —12).

SH gd Bl AW I P FHET B (2, 0) T T adm s a4y (7, -12) @
A B T B

Find the area of triangle of sides 13 cm, 14 cm and 15 cm.

e Brgs, fmer qend 1380, 1430 T 15SFW ¥, B e o ST

A farmer buys a circular field at the rate of ¥ 700 per m? for ¥ 4,31,200.

Find the perimeter of the field. [Use n:27—2j

% e wH g @a, T 700 Wi av HeX @ & ¥ 3T 4,31,200 § @liEd

S B e s E R [=%wj

2

S3/AS/3—211 A] 10 RTRATRTRTNNRANID 1 Contd...



I-sin 4
25 Prove that : S%n =(sec 4 — tan A)z. )
I+sin 4
I-sin 4 2
frg wifso : =(sec A —tan A)".
f 1+sin 4 ( )
26 The perimeter of a rectangular garden is 20 m. If the length is 4 m more than 4

the breadth, find the length and breadth of the garden. Hence find its area.

Ueh AR SN &1 9ET 20 B &)1 9fs 3@ @ s, 39 deR 9 4 97 affias
T, WA T B AAE T AR A BN SAd: FUBT %A S BN

27  Find the sum of all 3-digit numbers which leave the remainder 2 when 4
divided by 5.
3-37l ® UH §W HESN & AN S B, R 5 W AT B W 2 9
EREIE

28 The cost of a car was I 4,50,000 in January, 2010. If the rate of depreciation 4
is 15% for the first year and 10% for the subsequent years, find its value after

3 years.

SEEd 2010 ¥ TH BRI B g < 4,50,000 | AR UBA a9 ST B X 15%
qAqT ST aw H 10% B, @ 3 I¥ % ULAd IHH I T B

29 In a right triangle, prove that the square on the hypotenuse is equal to sum 4

of the squares on the other two sides.

fog BT 5 e wwer Bgsr o &9 @1 o, o & eielt & M & AN B
IO BT B

S3/AS/3—211 A] 11 RTRATRTRTNNRANID 1 Contd...



30 In the given fig.,, PT is a tangent to the circle from an external point P. 4
Chord AB of the circle, when produced meets 7P in P. 74 and 7B are

joined and 7M is the angle-bisector of /ATB. If /p4T7T =40° and 47B =60°
show that PM = PT.

& ™ omfa ¥, PIg9 % s 9 g P9 99 WX Wy W@ 3| g4 @ Sl
AB g™ WX TP @ P WX fyedl ¥\ 74 du1 7B % e e ¥ oqur M @i

ATB @1 GHgHSTh 81 & /PAT = 40° T8T /ATB = 60° &, o uisT f6 PM = PT.

Fig. (i)

OR / sgat

(For Visually Impaired Candidates Only)

(Faw zfe fawam frafdal & fog)

Two circles intersect in A and B. AC and AD are the diameters of the circles.

Prove that C, B and D are collinear.

T IT A4 3 B # whoess & $1 AC X 4D T 99 &% AW 3 |
fog #ivT 6 C, B ok D @@ ¥

S3/AS/3—211 A] 12 RTRATRTRTNNRANID 1 Contd...



31 A person standing on the bank of a river observes that the angle of elevation 4

of the top of a tree standing on the opposite bank is 60°. When he moves
40 metres away from the bank, he finds the angle to be 30° Find the height of
the tree and the width of the river.

% AR Tal & T (61 T G B g [ X @ U8 & R@Ex &1 5=
BT 60° UAT g1 S g§ 40 W 4® ' ST g, A BT 30° B S S| US W

175 | R R B | ) = | e e

32 For the following frequency distribution, find the median and the mode : 4

= SHERAT §27 &1 HeERy qu1 9ged T Bieg

x| S|10 115120 (25 (30 (35|40
S |37 (1212028 |31 [28]26
33 Two different dice are thrown at the same time. Find the probability of getting : 4

(1) the sum of numbers on the two dice, greater than 9.

(i) the sum of numbers on the two dice, less than 6.

BRI o B 121 ) e PO o) o s 2 11 2 20 S 5 LU

(i) T el UX STy demmst @ an 9 ¥ siue =
(i) < el uX STy denst ® A 6 ¥ % &l

34 The product of digits of a two digit number is 24. When 18 is added to the 6

number, the digits interchange their places. Determine the number.

T 3Bl AT TH WO % bl B YUNGA 24 F| W9 3@ e ¥ 18 s fm
S, @ ol & WM T@e S §| §E T sk |

53/AS/3—211_A |
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35

36

Construct a AABC in which AB = 6 cm, BC =4 c¢cm and the median CD =3.5 cm.

. . 3 . .
Then construct another triangle, whose sides are 2 times the corresponding sides

of AABC .

wh S ABC @ W@ @ity " AB = 6|, BC=4¥W qoT WIS
CD=35% 8| 319 Uah o7F TS & @1 diog, T e, AABC & &d

et A T A
OR / 3yl

(For Visually Impaired Candidates Only)

(Faw zfe fawam frafdal & fog)

Write the steps of construction to draw two tangents to a circle from a given

point outside it.

Th gd % 9l U U R g ¥ g9 W g 9 a9t a1 @y YEnet @
@A B b o @ & e fafaw)

Find the curved surface area of a right circular cone of volume 12936 cm3 and

base diameter 42 cm.

H Wegad o frewr omeas 12936 wR W ¥, qum omum @1 @ 42 W
%, % 9% U B ATBA A BN

6
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This Question Paper consists of 30 questions and 12 printed pages.
TH Y- H 30 UH a0 12 G| TR ¥ |

Roll No. Code No. 53/AS/3

AT @ .

Set— A

SCIENCE AND TECHNOLOGY
(fre T Wenfie)
212)

Day and Date of Examination

(adven =1 fe 7 faaier)

Signature of Invigilators 1.

(Friverel & zwen)

General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 53/AS/3-| A | on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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2

TUETET 9795 % Bl I8 UX U1 SThHis oAy fag |

HUAT YIS B S o 6 TTIH & P Joof a1 AT @l a1 & WE&AT & STl god I3
% T HUL BY 5 | 39 9@ B S A B A 6 99T wivd w0 H T

JEFTSs et ® stmuml IR fawedt (A), (B), (C) T@1 (D) ¥ € i3 Tk IAX g & qur &
TS TTR-gRasl ¥ T wE wa fafaw |

IS U9 b FE—A1 G U9 &b S e orafy & 9aY &1 &9 § | aggiTss get
& fu o 9 g9 TRl R s

ST-GRa® ¥ TEAN-Tae a9 sreEr fids @Mt % sAfdie ®el 4 SgHhie aes 1%
el Bl ST AT SR |

AT TGRS I G970 &l s gear 5S3/AS/3-|A| e |

() WTUA had /ST ¥ & | Y o, afy o o @ A Y T8 o ue 9w § S}
T ghd ¥

Siepull, AT, STHRET, U, HYHI, @@pa i fer |

FUAT TR—YRadH 9 Y Y S § T % onw few Wt § o fow W@ R

(@) afy e &t ua oS % arfafia fpdt o o & SO foad € aF w9 &l aus
¥ B ol Jreat | it e daa s g
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SCIENCE AND TECHNOLOGY

(= wd Arenfied)
212)
Time : 2% Hours] [Maximum Marks : 85
N | e
iy 2y gue] [quiie : 85
Note : (1) All questions are compulsory.
(2) Marks are indicated against each question.
e« (1) [l weT sfEd E
(2) YdAH YT & ofd Iub e fow W ¥ )
1 Disinfectants are : 1
(A) strong oxidizers (B) strong reducers
(C) weak oxidizers (D) weak reducers
Fredmms B § -
OIS EUG IR IESEARGT (B) giferagTell  sTUETI®
(C) 3@ IwaE® (D) T« TIEES
2 Why do we use cotton to make wick of a spirit lamp ? 1

(A) Cotton can easily be given shape of wick as it is soft and lighter.

(B) Cotton has higher ignition temperature as compared to spirit.

(C) Cotton has thread strands which act like fine capillaries.

(D) Cotton is cheap and easily available.
fe o & s &% T ' w1 IWEM #® W 27

(A) TA™H TAT &@H1 B & HIOT €5 Bl Sl B ABR JEF & @
ST "hal ¥

(B) fwz @ omar & &1 Uysaad dM 3ifds ear 5 |
(C) ® ¥ am & Y Bd § o I HR@ET & d@ &H & & |
(D) & &N T X ol ¥ IT@H & ol & |
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3 Which of the following is NOT related to community health ? 1
(A) Immunization of children against polio
(B) Treatment of diabetic patients by a doctor
(C) Cleanliness of locality
(D) Outbreak of dengue in a town
Prefafan & ¥ B AERE w@Ren ¥ e W 3 7
(A) T & Avam & f@u @i & wfoer
(B) WYWe ¥ WA W &1 IRI U IWER
(C) Fewl B WHTS
(D) BT ¥ M SO @& YHU

4 If an accident victim of unknown blood group has to be given blood 1
immediately, the safest blood group for transfusion is :

(A) O group and Rh™ (B) O group and Rh*

(C) AB group and Rh* (D) AB group and Rh™

Th T @ e A el b BR AK Bl gid RIEH % fag
giaa @ g ¢ o

(A) O ¥gg 3 Rh- (B) O @ye 3 Rht
(C) AB @ X Rht (D) AB ¥g X Rh
5 The equivalent resistance of the following combination of resistors between 1

point A and B will be equal to :
I frw T gkgs @d9ee &1 g A 9o B & 9 ufomh gfdg ® o

(A) 3Q (B) 40
C) 6O D) 120

S3/AS/3—212_A] 4 |HURRAERIRTCAMIrID- 1 cont...



6 A test tube contains a solution ‘X’ in which the concentration of H* (aq) is 1
greater than that of OH (aq) ions. On adding few drops of methyl orange in
the test the colour of solution will be :

(A) Blue (B) Orange

(C) Red (D) Yellow

U e ¥ W faaas X° § HY (aq) =t & disar OH (aq) STE! @l
Tigar ¥ ot ¢ | framsd oits @1 $5 g3 TRETal § Sad 9¥ 39l O7 80 —

(A) e (B) T
(C) (D) e
0O
7 The carboxylic acid CH;-C-OH is present in : 1
(A) sour milk (B) vitamin C
(C) vinegar (D) citrus fruits
0O

]
Fatfafd®s @ CHy-C-OH U/™l S & —

(A) @z 3o H (B) frefm C
(C) T o (D) g weiq & wal o
8  The crop which increases the soil fertility after harvesting is 1
(A) Wheat (B) Rice
(C) Potato (D) Peas
frafafad & @ 59 9@ & HT & T© M B AT TG S T 7
(A) (B) =&
(©) emq (D) "X
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Which of the following velocity-time graphs represents the motion of an object 1
falling under gravity ?

frafafgd & @ ®F @ T AE [ed & FUA A BIEl g3 s awg @
T W FEtd s 5 7

A A
z z
a) 2 ®) 2
> >
Time (F979) —> ’ Time (¥79) —> ]
A A
z z
© 2 ®) 2
> >
Time (F979) —> ’ Time (¥79) —> ]

10  Write full form of CNG What is its main constituent ? Why is CNG considered 2
cleaner fuel for automobiles as compared to petrol and diesel ?

CNG & qU &9 ffau | sH&1 &7 "es &1 & 7 Ui i S/ad @l STuer
CNG % @aiad ardl & g @< 389 & A9 S« & 7

11  Can a bimetallic strip made of brass and silver be used in a thermostat ? 2
Give reason for your answer. (Given o for brass and silver are equal)

AT ¥ R Giad q9m 9l ¥ s fgurg gel w1 SudnT R S oasar § 7
M SO & T &R gaRy | (R ¥ 9ad ol Ol & fWu o @1 9w

THAIHE 3 )
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12 Give one example each of a change occurring through (i) Meiosis and 2
(i) Mitosis in a girl.
TG g qon ‘edgE fauee g R d@sdl § 8N A qiEcHl @
ThH—Tdh IR AT |

13 Why do passengers standing in a moving bus feel a forward jerk when the 2
driver applies the brakes suddenly ?

59 ZEAY NG % @l ¢ A9 d9dl a9 H @S Y Al B SN @
A b B qIHd F Bl T 7

14 Draw a ray diagram to explain formation of enlarged and erect image of a 2
tiny object in a concave mirror.

Iad TUOT H TH Tol A% B @A S W gl g9 q9E % 9
UH fR-amE IRy |

15 Why is it advisable to seek genetic counselling in case of marriages between 2
close relatives ?

HUS el & 99 fqae & qma o ogai 94l ey @91 | St § 7

16 Why do many food items containing fats and oils give unpleasant smell and 2
bad taste, if not consumed for a long time ?

THl G au S g9l Ul ad a1 @, offud §9d a% g H 9 @
W AYE T e g wWE Al o Wl § 7

17  Write two differences between base units and derived units. Derive the SI unit 4
of energy in terms of base units. What is the special name assigned to this unit ?

T AHGl TAT FA qEHI % S &l o qdRe | Sell & SI e q|
A b T W GO HNY | 39 AEEG & it T oF@r o5 7
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18 What are volatile organic compounds (VOCs) and suspended particulate matter 4
(SPM) ? Why are they considered air pollutants ? List their sources and harmful
effects on human beings.

araiid ®etes At (VOCs) duT wfaa s uard (SPM) w1 & 7 3!
qg YSUH R AFT ST § 7 96 @ qd gl W USH a6 JHaraEh
gAEl Bl gdl gy |

19 (a) Differentiate between molar mass and molecular mass. Write the value of 4
molar mass and molecular mass of sodium chloride with proper units.
(Atomic mass : Na = 23, Cl = 35.5)

(b) A glass tumbler contains 72 g of water. Calculate the number of water
molecules present in the tumbler.

(a) WX FAE 9] oNfvas FEME ¥ WE B | Sifeaw FAREe B Al
TEAM qUT oAk FATM b1 UM 36 IUgdd AEel dfed fafaw |
(|ifEaw &1 T ] FEHE = 23 SN A Bl 9] SeEHH = 35.5)

(b) T® Hia & fra@ & 72 ¢ o7@ § | fam o SuRed <1 & Sopatt &r
I@aT BT |

20 (a) The weight of two metallic spheres, each of 200 g and radius 4 cm and 4
10 cm respectively are measured in water and vacuum. How will the ratio
of their weights change in water and in vacuum ? Explain.

(b) A cricket ball thrown vertically upward with a velocity 49 ms~! is caught
back at the point from where it was thrown upward by a player. Calculate
the total time taken by the player in catching back the ball after throwing
it upward.

(a) T oig % el ¥ YA® B FHAN 200 g ¥ JAT AT HAM: 4 cm TAT 10 cm
g | ST qer Fara # 9 X S AT % ST W T giEd B 7 et
BT |

(b) UH fophe AT B TeateRa: HUX & AR 49 ms! & IJT F % B qMUG
SHl fg W faael 39 @us o1 & Sel ¥ g B GHl W AT | W
% % Uea Ra@el R W @ A AUed ¥ P gHd B qiad
BT |
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21 Figure given below represents number of waves emitted by a source placed 4
at O in 2s.

«— 6cm —>

NAANAAANANN
VIAVAVAVAVAVAVAVAVAY

Distance —>

A\ 4

Displacement —»
o)

On the basis of the figure find :
(1) Frequency of the wave
(i) Wavelength of the wave
(i) Amplitude of the wave and

(iv) Wave velocity

R o P R, Rig O W @ TH AW A @ ¥s § e qol @
Ter Wi @ T

— (6 TH. —>

ENANAAAAAAN
UARVAVATRVAVATRVAY

M A & SmUR W I DI
() T B A
(i) T B ACTEEH

(i) TOT BT R—AH

v

(iv) a1 T
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22 (a) What will happen when 4
(1) a silver coin is placed in a solution of copper sulphate
(i) a copper coin is placed in a solution of silver nitrate.
Give reasons for your answer.

(b) Explain, why does a copper statue lose its beautiful luster on being kept
in open for some months and a green layer is deposited over it.

(a) T B I,
() dr &% Tas B B TS & fawET W W@ W
(i) »rax (qiaT) & faoe @& fex TEee ¥ fawaw ¥ @ W
U I % T BRO TRy |

(b) =TT BT 6 & T AN & I B TN G H @A T AT
gol 9% @ Idl ¢ i 39 W B0 WA 9 SRl |

23  Differentiate between the detritus food chain and grazing food chain with the help 4
of suitable examples. What is the significance of food chain and food web ?

SUgH IR B TEEA § FUE GE-YEAl R aNEE @E-gEar
AT DI | GE-NEAT qO GE-—| H F 9Bl & 7

24 (a) Draw the structure of phosphorus atom according to Bohr’s model of atom. 4
Write the valency of phosphorus. (Atomic number of phosphorus = 15)

(b) What will happen when an electron of phosphorus atom changes its
position from L-shell to M-shell ? Explain.

(a) WX U AiEA & ATAR BRGRE THTY & G111 95T | GRGIRE B
ATl fafay | (BR®RE &1 Y] hHi% = 15)

(b) ®EHERE T ¥ ARG TH Saag oAl Rafd L-alet § M-aier # S
T A R BN 7 RAT Bt |
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25 (a) What are enzymes ? List three pancreatic enzymes and state their 4

functions in the digestion of nutrients.

(b) Why are we advised to chew our food well ?

() U R B ¢ 7 AM SRl USEAl @ gEl 99Re a9l que
EERC R G = - C B CA DR G el

(b) =W SN WIS @ S YHR ISH B T & Sl o 7

26 (a) Why is Alternating Current (AC) widely used as compared to Direct 4
Current (DC) for industrial as well as domestic purposes ? Give any

two reasons.

(b) Represent AC and DC graphically.

(a) ofEfie Td = &M@l § e/ (DC) &1 amen Y@@« arxr (AC) &1
ANe Y Y & IUAET fRaT ST ¥ 7 B & el SaRg |

(b) AC a1 DC & UT% T I9MIT |

27 (a) How and why does relative atomic size of elements Lithium (atomic 4
number = 3) and Oxygen (atomic number = 8) present in period 2 of

modern periodic table vary ?

(b) What is the common name given to the elements present in Group 18

of modern periodic table, state their four characteristics.

(a) oMYgF® MEd RO & A oEd W Rad q@i s (T HHiw = 3)
qgT SfeRdIST (IR %Hie = 8) I TN& U SMeR &y ol
= ¥ 7

(b) oMgr oEd AR % WE-18 ¥ Req Jci & 9Mrg W F®1 s 7
T IR oA ARy |
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28 (a)

(b)
(2)

(b)

29 (a)

(b)

(b)

30 Describe the formation of ionic bond between sodium and chlorine atoms to

Draw a simple diagram of human excretory system and label following 6
parts on it :

(1) Kidney
(i)  Ureters
(ii1) Bladder and
(iv) Urethra

Write two important functions of kidney.
qMg IS o5 B U §Xd g S48 | 399 T 9m @l AHifea
[ :

(i) I¥b
(i) v
(i) T

(iv)
gF% & A WAy HE faRag |

What is meant by global warming ? Explain its causes. Why should 6
global warming be considered global environmental problem ? Mention
any other two global environmental problems.

Write any four serious consequences of global warming.

Ias T q w1 oAU ¥ O? 3HP BRO IaAU | IRTE FEA B
e IRge Tateel wuen & AEr W Ak P Rl o & dfdesw
e gEeel &1 Iy BN |

dfa® T & Bl IR T8d THR uRomm faRaw |

6

form sodium chloride. Explain, why are the melting and boiling points of ionic

compounds higher as compared to covalent compounds.

Hifeaw FEe o Wifsaw Td FA IS % S A@Ae SEY % i @l
FATAT B | TS AR BT D A FaeTib qeadisil ARl Bl Fa
o oifas F;T BT 5 7
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This Question Paper consists of 29 questions and 10 printed pages + one outline map of India.

T YT ¥ 29 YT aAT 10 YT IS + ARA B TH WI-AEET |

Roll No. Code No. 53/AS/3

AT @ .

Set— A

SOCIAL SCIENCE
(AT fasm)
(213)

Day and Date of Examination

(adven =1 fe 7 faaier)

Signature of Invigilators 1.

(Friverel & zwen)

General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 53/AS/3— on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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TUETET 9795 % Bl I8 UX U1 SThHis oAy fag |

HUAT YIS B S o 6 TTIH & P Joof a1 AT @l a1 & WE&AT & STl god I3
% T HUL BY 5 | 39 9@ B S A B A 6 99T wivd w0 H T

JEFTSs et ® stmuml IR fawedt (A), (B), (C) T@1 (D) ¥ € i3 Tk IAX g & qur &
TS TTR-gRasl ¥ T wE wa fafaw |

IS U9 b FE—A1 G U9 &b S e orafy & 9aY &1 &9 § | aggiTss get
& fu o 9 g9 TRl R s

ST-GRa®! § Tea—Tae s Seen i Wl % sfaied wel 91 T faEe 1%
el Bl ST AT SR |

ST TER-gReT TR WeTws bl s wen S3/AS/3-[A] frd |

() WTUA had /ST ¥ & | Y o, afy o o @ A Y T8 o ue 9w § S}
T ghd ¥

Siepull, AT, STHRET, U, HYHI, @@pa i fer |

FUAT TR—YRadH 9 Y Y S § T % onw few Wt § o fow W@ R

(@) afy e &t ua oS % arfafia fpdt o o & SO foad € aF w9 &l aus
¥ B ol Jreat | it e daa s g
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SOCIAL SCIENCE

GICIECHCEIC))
213)
Time : 3 Hours] [Maximum Marks : 100
g 3 "] [qui : 100
Note : (1) All questions are compulsory and carry marks as indicated against each
question.
(2) For Multiple Choice Questions four options are given. You have to choose
right option and indicate it in your answer book.
(3) Attach the map with answer script.
et : (1) Af veT sifed T X ud® UeT & oid SHe e Y ™ ¥
(2) IGHS 9 & TR—AR fobe & ™ ¥ oW we fgeew g si oTaer
TeR-gReE ¥ Rl |
() @ © 9nfE & Sa-gRaer & Wi g B |

1 In the given political outline map of India, mark and label the following with  1x4=4

appropriate symbols :

(A) Kanyakumari

(B) River Mahanadi

(C) The state having lowest density of population according to 2001 census

(D) Panchmarhi biosphere reserve

g T ARG % TeEiae @-aEtas o, fEaiaa e suge ol 9
TET quT o9 % M fahag

(A) FmgaTd

(B) werTdl

(C) 2001 ST & SR GIH HH T ATl A

(D) UTHE Wa ST &

S53/AS/3—213 A
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2 Identify and write in your answer book the correct names of four major international  1x4=4
airports shown as (A), (B), (C) and (D) in the given political outline map of India.

foT U ARa % e YE-aEE ¥ 9R Yg@ e g aigel &1 (A), (B),
(C), (D) & T AT ¥ | 3= WA 9 I |l 1 70 Iax—gfaasr o fafeay |

Political Map of India
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i ¥ ¥ | ¥ 1 i 1 ¥
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Note : The following questions are for the BLIND CANDIDATES ONLY
in lieu of Question No. 1 and 2.

A T T T 99T Faw efedm wdafiat & fow gsw "Wem 1 qur 2 %

W W E |

(i) What is a pass ? 1
AT BT B 7

(i) Name any two passes situated in the Greater Himalayas. 2
T e ¥ Rua Rl @1 U % AW faiag |

(iii) Name the river along which Patna is located. 1
g & # AW faRkge fEe fEA Te Rad ¥

(iv) What is an estuary ? 1
ogall e wed € °

(v) Name any one state which has more than one international airport. 1
T Tl Tk T w1 W fAiey e vk ¥ e s waE o
e ¥ 1

(vi) What is the function of Pawanhans Helicopter Limited ? 1
TaTed SlAHiel WS & & w1 ¢ ?

(vil) What is the drawback of air transport ? 1

TS UIAET Bl BUT T T 7

3 The tenure of a Rajya Sabha Member is : 1
(A) 5 years (B) 6 years
(C) 3 years (D) 2 years
T T ® BB B &
(A) 599 (B) 6 a9
(C) 3= (D) 2 ¢

S53/AS/3—213 A
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4 Which one of the following is NOT an indicator for measurement of economic 1
disparity ?

(A) Per capita income (B) Industrial growth
(C) Topography (D) Poverty
Prefafan & ¥ B @ oTiE Rl ¥ T B qEs W b 7
(A) ufq =R s (B) i ghg
(C) wmpia (D) Ty
5 Why did Gandhi suspend his Non-Cooperation movement ? 1

(A) British government accepted all his demands.
(B) Due to differences among congress leaders.
(C) Gandhiji was arrested during the movement.

(D) Due to violence that erupted in Chauri Chaura.

I B e T e e I O TR G R 0|

(A) fafesr s 4 e @ =@ @R & o |

(B) &g Admet & 99 HANG B BT |

(C) TS & 39 of=ied & A RRwar &Y foar mar |
(D) =R e § R & e |

6 In which one of the following spheres was the least impact of iron felt during 1
the Iron Age ?

(A) Agriculture (B) Domestic activities

(C) Transport and Communication (D) Warfare
frafafgd o § @9 @ &5 ¥ e & Y9E |egT § a9 B9 TgHa fear T ?
(A) By (B) =Xe wRIGWT

(C) IEEE 9 49X D) IJs

=

S53/AS/3—213 A
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10

11

12

13

14

S53/AS/3—213 A

How did the approach to peace and security evolve during the freedom 2
movement ?

gTifT T & & JUNH &1 SGHd TS SR & A &y ol ¢

Differentiate between subsistence and commercial farming. 2

frae quar aifiiee odr § oy W Sty |

Differentiate between direct and indirect elections in India with examples. 2

ARG ¥ Y@& qoO1 oAe Al b S SaRll dfed ST W By |

The population of a district is 2,50,000 and its area is 1250 square km. 2
What would be the density of population ?

fpdl W STl & S=EEr 2,50,000 qT @@l & & 1250 @ fean ¥ )
TET B TGS T FT A ?

What was the reason behind the formation of United Nations Organisation (UNO) ? 1+3=4
State any three aims of the UNO.

YYFRT UL (UA.S) & TS % U T BRI A7 7 GUAGN. & el qW Ig9al
B I DI |

What was 'Dhamma’' according to Ashoka ? Name any four places where edicts of 2+2=4
Ashoka have been found.

Aelee & AR ‘O H R q@d ¢ ¢ UH Bl Ar W % AW fatey
STel 3% REmM@ 99 e ¥ |

State any four main features of hot weather season in India. 1x4=4

ARG § AT Fg & el ar fagoaret &1 Iw@ By |

What is the meaning of Constitution ? State any four provisions in the 2+2=4
Constitution of India.

GHIU™ 9 RT AHYE & 7 9Rd & GO & Rl AR YEEEl B 3@ BTy |

~
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15

16

17

18

19

20

21

Why did the industrialised countries choose Asia and Africa to extend their 2+2=4
dominance ? How did growth of transport and communication help in the
spread of imperialism ? Give any two reasons.

Sl el = TR T Tkt &1 o9 Y@ har & fag waf gam fear ?
TUgaR & %ad § JaEd 9 @GR b e T B yeR § "9erEdr @l ?

®E A BROT TARIT |

Explain any four disastrous effects of imperialism on colonies. 1x4=4

IYCEIN UX THEAE % (bl AR Ay gvEl @l ey dited |

How did English education contribute to the rise of nationalism in India ?  1x4=4

Explain any four reasons.

3OS f1em 7 Aa W UgaR @ gig H 9 Ue areE fear P AR sRu
W BT |

Explain any four characteristics of Tropical Evergreen forests. 1x4=4

IWHCAT e a9 & fhwel 9 fagioaen @ = s |

Explain any four provisions in the Constitution of India that have created 1x4=4
a strong Central government.

FEF BN B @O 8 IR |

Differentiate between Pressure groups and Interest groups by giving four 1x4=4
points of distinction.

A Wl qo1 B9 Wl % 9 AR oY WR Hify |

Explain any four agencies which help to formulate public opinion. 1x4=4

Vg v e o geme feRl R sifveen @l wweEr #ifee |
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22  Explain any four corrective measures for the elimination of gender 1x4=4
discrimination in India.

ARG o R HEHE % ST & 104 bl ar Ueis Su™l &l ATl HIg |

23  Study the table given below and answer the questions that follow :
Station 'A'’

Temperature (in °Celsius) and Rainfall (in cm)

Months JIF|M]| A M J J A S O N | D
Temperature | 27 (27 (28] 29 | 29 | 27 | 26 | 26 | 27 | 27 | 27 |27
Rainfall 23121139 ]1106]208 1356|223 146|138 (27320675

(1) Calculate the annual average temperature of Station A. 1
(i) Calculate the annual average rainfall of Station A. 1
(iii) For how many months Station A receives more than 100 cm rainfall ? 1
(iv) What type of climatic condition Station A represents ? 1

TS GO BT FIIT BINT YT Sk A U T geai & IAY faRaw
w®INE ‘o

quae (C afegag o) qwr 9w (@ W)

e || w | e | w | g e | e ||
qagrs (27 (27 (28|29 | 29 | 27 | 26 | 26 | 27 | 27 | 27 |27
ot 23 [ 21139 (106 | 208 [ 356 | 223 | 146 (138 [ 273 | 206 | 75

(i) T ‘O B Ea ANE AUEE B OTOET BT |

(i) I ‘7 @ oEd qiNe gul B TET BT |

(iii) fpa™ #&FT § WM ‘or ® 100 W ¥ offus Il er ¥ °
(iv) WM ‘&7 fpg UsR @1 S@arg & gofiar & 7

S53/AS/3—213 A
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24  "The right to Constitutional remedies is the most important fundamental right." 2+2=4
Justify the statement by giving any two arguments.

“HIue ITERl B SUeR EY Y@ YW@ AUeR ¢ I 36 HUT & fhwl &
TBl B WEEA § UEETd o8y |

25  Suggest any four measures to address the problem of corruption in the Judiciary. 1x4=4

IS H IRER B g9 & I & & Y B AR 30T gAY |

26 Describe any five features related to society and economy of the Harappa 1x5=5

civilisation.

TEUE Al ¥ 9MINTe qur Fdarey el el g fagiwarst @1 avie
BT |

27  What is density of population ? Describe any two physical factors affecting 1+4=5
distribution and density of population with examples.

TET T T SIUYE ¥ 7 SNEET & u qdT fadier @l gemed e
I TRl A Oifas BRS BT IFEEN Ged dUE BT |

28 Explain any five effects of the socio-religious reform movements on Indian  1Xx5=5
society in the nineteenth century.

SHEAl WAl W ARG 9] WX ESTe-aTie guR % feel e gemEl @l
AT B |

29 Explain any five legislative functions of the Indian Parliament. 1x5=5

IRA HEe & fhel wa faurl wri @ e s |
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This Question Paper consists of 34 questions and 8 printed pages.
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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 53/AS/3—| A | on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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QA 3R

1

2

TUETET 9795 % Bl I8 UX U1 SThHis oAy fag |

HUAT YIS B S o 6 TTIH & P Joof a1 AT @l a1 & WE&AT & STl god I3
% T HUL BY 5 | 39 9@ B S A B A 6 99T wivd w0 H T

JEFTSs et ® stmuml IR fawedt (A), (B), (C) T@1 (D) ¥ € i3 Tk IAX g & qur &
TS TTR-gRasl ¥ T wE wa fafaw |

IS U9 b FE—A1 G U9 &b S e orafy & 9aY &1 &9 § | aggiTss get
& fu o 9 g9 TRl R s

ST-GRa® ¥ TEAN-Tae a9 sreEr fids @Mt % sAfdie ®el 4 SgHhie aes 1%
el Bl ST AT SR |

AT ITX-YRAsHT T 99T Bl His de S3/AS/3-|A| e |

() WTUA had /ST ¥ & | Y o, afy o o @ A Y T8 o ue 9w § S}
T ghd ¥

Siepull, AT, STHRET, U, HYHI, @@pa i fer |

FUAT TR—YRadH 9 Y Y S § T % onw few Wt § o fow W@ R

(@) afy e &t ua oS % arfafia fpdt o o & SO foad € aF w9 &l aus
¥ B ol Jreat | it e daa s g

S3/AS/3—214_A] 2 ATV - 1 Contd...



ECONOMICS

(rqemeR)
(214)
Time : 3 Hours] [Maximum Marks : 100
qog ¢ 3 gue] [quifes @ 100
Note : (1) All questions are compulsory.
(2) Marks allotted to each question are indicated against it.
(3) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and
(D) and out of which one is the most appropriate. Select the correct answer
and write it in your answer-book against the number of question.
e« (1) [l weT sfEd E
(2) UA® YT % 3k IAb A I ™ T |
(3) IEH™S T HHH 1 ¥ 8 Tb, TAH UT H X dbfewsd I (A), (B),
(C) 3t (D) T ™ % v & ws W&l a1 waitys sfad 3 | 2 3O g
AT AT IAGRABT H IH TS HHG b G AR |
1 Which of the following is studied under microeconomics ? 1

(A) Determination of the price of a good (B) Inflation

(C) Employment in a country (D) Economic growth
frafafad & @ feger At ordamm & owia otegad fopam <iam & 7

(A) Todll axg @ @Ha &1 i (B) &1 WhIfd

(C) st 3o 9 s (D) ot Tghg

2 Which factor becomes obsolete after a certain period ? 1
(A) Land (B) Labour
(C) Capital (D) Entrepreneurship

g Fieq e@fy & 999 @M @ WEd Avdied o St 8 7

(A) uf
(C) st

B) =W

(D) v=H

S3/AS/3—214_A] 3 ATV - 1 Contd...



3 Which out of the following is NOT a factor income ? 1

(A) Profit (B) Interest
(C) Wages (D) Labour
frafafad o & @ 9 Qe g @ g ?
(A) @™ B) ==
(©) gl D) =™
4 Which out of the following is a private indigenous production unit ? 1
(A) Partnership (B) HMT
(C©) MMTC (D) Collaborations
frafatgd & o A @ el <o SaeT 3@ ¢ 7
(A) WEET (B) Ta.uHd.
(C) Twaug . (D) =4
5 Direct payments properly calculated are : 1
(A) Variable Cost (B) Fixed Cost
(C) Implicit Cost (D) Explicit Cost
UH T@E YAH SEel 3fad ®9 ¥ AT & S 8, 8§
(A) ufEadt @nrd B) Reax @ra
(C) FHE @rFtd (D) wWE «rd
6 Equilibrium price of a commodity is the price at which : 1

(A) Quantity demanded is greater than quantity supplied
(B) Quantity supplied is greater than quantity demanded
(C) Quantity demanded = Quantity supplied

(D) None of the above

el a¥g @ GJ@d HMAA a8 BHEA BA ¢ O U
(A) AR 5 AET ST W S AET § SE® skl 8
(B) oMY @ TE WET AN g AET § Sy Er ¥
(C) =R T3 AET = SMYfd @& Ts AT

D) THF ¥ ¥ HE T

S3/AS/3—214_A] 4 ATV - 1 Contd...



7 By which method is primary data obtained indirectly ? 1

(A) Indirect Investigation (B) Direct personal investigation
(C) Mailed Questionnaire (D) Through Schedule
B W fafy g wefe sies omwd Y 9 W R S g7
(A) o9TH TN (B) ¥&& KD STHLN
(C) =& wgAE! (D) I BT
8 We can contribute to sustainable development by : 1

(A) Recycling

(B) Reducing the usage

(C) Finding substitutes for non-renewable resources
(D) All the above

T aog e o 9feE § 9%d ©
(A) YTEHIBIT BT

(B) WA @& ®H H(h

(C) I—Tarstoig d@ETeHl % WM GeHT
(D) wwga @

9 In your daily consumption some free services are used. Explain them with the 2
help of a suitable example.

oMues & U9 # $B Mg amell w1 YA B 5 | U% Sugad Sard
B oI H IR A BT |

10  Describe 'Consumer's Sovereignty' as a feature of a capitalist economy. 2

USiamEl sefea] & U bowar & ' O IUEERT 9qQ B Al Big |

11  Distinguish between product-based and process-based division of labour. 2

IAE AN 90 faumee qor uikar snuid 9™ fawes § 98 @i |

12 If 25 units of output are produced and the Total Fixed Cost is ¥ 150, 2
alongwith Total Variable Cost of ¥ 350. Calculate the Average Cost.

gfe 25 IHRA B IUET [HAT A & T FA U@ A T 350 & G A
R @@ T 150 ¥ @ ofEd @NTA H MIMT BT |

S3/AS/3—214_A] S ATV - 1 Contd...



13  Explain the relationship between price of the commodity and its quantity supplied. 2

el a¥g @ HEA AT SEDH! MY B Ts AT H WY B AT DI |

14  Complete the following table : 2
Price (%) Quantity Demanded (in Units) | Market Demand
per unit HH, HHg HH (in units)
1 12 - 10 30
2 9 - 8 23
3 6 - 6 16
4 3 : 4 9
Frefafad arell &l g &g ¢
s () a T A (GEEE H) TR AT
(afa =) e A Tfae B wfar C (zereai %)
1 12 - 10 30
2 - 8 23
3 6 - 6 16
4 3 - 4 9
15  Explain why it was difficult to equate the values of different goods which were 2

traded, under barter system of exchange.
TRy 6 axg fatme gomer o 9 argetl @ @R feer Sn en S wedl
B I HET BioT R a1 7

16 Explain the difference between diagrammatic and graphic presentation of data. 2

foslf ara qur Eresl g ofiwsl & URAiei § AT @ 9ueEy |

17  Which are the main components of environment ? 2

e % e "k dl &

18 Suppose you, as a consumer, purchase a geyser at a lower price without taking 2
the bill. What kind of serious problems are likely to be faced with this practice
of yours ? Explain.

AF AT 3T T SUHT & &9 ¥ 997 foa 0 &9 #Ha W U e gded
€ | 3MU% 3T HAEX & BT b T U BT AT &A1 U 7 G931 |

S3/AS/3—214_A] 6 ATV - 1 Contd...



19 Why is economics treated as "Science of Sustainable Development" ? 4

arfame W ‘A faee @ faser Ry ®er Sar ¥ 7

20 Explain the following features in a socialist society : 4
(1) Collective Ownership of Means of Production
(i1)) No Class Conflict.

gaeraEr gae o fFefafaa fastoaet @ amen st
(i) SURT & GHEAT B GEffed @A
(i) o "o @ g |

21  Explain the concept of "Production Function". 4
TART ®e B FAUN bl ATAT BT |

22 How do the following factors affect individual supply of a commodity : 4
(a) Price of the commodity
(b) Government policy

frafatad ®Re fBHl a5y & SR & 68 ¥R gwifed & © o
(a) a@aﬁaﬁﬂa
(b) | i

23  Explain how money can be used to make payments in future. 4

qUARY o YaT @1 SUAM qias § YaE BT & [l 69 YeR fear S
1 & |

24  Suppose, you have savings of I 14,000/- with you. Explain how will you keep 4
them safe in the post office near your house.

AE W 3ue e % 14,000/- & UG ¢ | GUARY 6 v fRE wer ¥ o
T % U SHEX H 39 gAed @i 7

25 How can an information be both qualitative and quantitative in nature ? Give suitable 4
examples.

S A TR H TS JUT TEATED, A b B bl 5 P IUGH SaEA
EUSCN

26 Distinguish between a variable and an attribute. 4

WX A T A A B |
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27

28

29

30

31

32

33

34

Arrange the marks obtained by 24 students in Mathematics in ascending and
descending order :

T # 24 fqEmi¥iEl gTU wTiel B Sed 3¢ q€7 Hed Y %A W Hared &Iy
10 50 48 7 11 16
6 12 18 28 49 45
40 20 30 15 36 38
8§ 25 5 9 14 19

Explain the role played by the service sector in the Indian economy.

A faeawn o a1 (Jaes) &5% B el & Al B |

Suppose, there is a drought situation in the economy and you are the government.
What role will you play to control the situation of price rise, which is an outcome
of the drought ?

A Wiy, sfefegaee o @ & Rafd 3 o ofMT ¥R € | &Y dFa gig @l
Rafq &l, s g@ & oo ¥, @& R &0 & g | qieer et ?

Explain how the Consumer Protection Act 1986 provides all the support and
guidance against violation of Consumer Rights.

TR fop Iuwierr dXewr sitatrag 1986 Iusier & Ifueri & Seed & fauidid
T ge™ar qo7 AFGYE BH &Y § 7

Why does the demand curve slope downwards from left to right ? Explain.

C 0 G 1 s et B 2 5 2| S S - = Al

Describe how trading activities are integral part of the economy.

MR &I TArareE srefegeren & it 3 9 ¥, aud sy |

Compare the Chinese economy with the Indian economy.

99 B feRar B WG @ Adeawn ¥ ga s |

What is 'Habitat degradation' ? Mention its two major causes and one effect.
Ui AR & 6L &1 el & ¢ 39 &l Y@ BIRON a9 Th J9E &l
SwiE BT |

4
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A AT

1

2

53/AS/3—215 A

e U9 % B USS UX Al STk oY fad |

FUAT YU Bl WG o 6 UTUA &% P YOl qUT LA B Iaql & WA & o
9 Y5 % TEH HUC BUl § | @ A Bl Sid W B A {6 TT BB T H 3

Jeges we ¥ emual A fyeedl (A), (B), (C) @um (D) ¥ ¥ #BE TH A g ¥
AT A T FA-gRAET H Y Hel I¥ farau |

TS Tl & WA FEI YA b SA¥ MUIRa oty & WX o ¥ | agiTs
gl & A o § Wy el feEr smom |

ST-GRA®! ¥ TEAN-TOe S Ul Mids W 6 Siead ®el Wl STIwHe e
W Tae] B sEr IelEl SR |

AT TA—YGRABI T YU & wis wea SI/AS/3-|A| @ |

(®) WIS haw Qe § & | 6T off, af omw o @ 9 & 7w fRS uwew 9w
¥ TO¢ < °hd T

i, ARy, @@, w9, B, €% R e )

FUAT IT-YRaa § T T gl W faw e few 9w ¥ oW fim w® ¥

(@) afy omu & wd st & srfafea fpdl o wwr o TOX foad & @ wed @
R Y ) () i 1 B s A U 2o s M e T T

o
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BUSINESS STUDIES

(AR Stera)
215)
Time : 3 Hours] [Maximum Marks : 100
Ty ;3 "] [qUTie : 100
Note : (1) All questions are compulsory.
(2) Marks allotted for each question are indicated against it.
R« (1) [l weT sfEd
(2) UA® YT & ok IUb A I ™ 7

1 Which of the following is not a feature of sole proprietorship ? 1

(A) Single ownership (B) Agreement

(C) Ease of formation (D) Unlimited liability

e 9 o uea w@ia @ faevar e 9 W@ g 7

(A) The @i (B) &rgdy

(C) T ¥ W (D) oIt aTd
2 Which of the following is not an example of Consumer's Co-operative Societies ? 1

(A) Kendriya Bhandar (B) Apna Bazar

(C) Super Bazar (D) Urban Cooperative Banks

T o 9 SuWieRT deerd @R BT SaeXY B ° Tl & 7

(A) HEE HER (B) ST 9K

(C) g TER (D) =0 TRl g%
S3/AS/3—215_A | 3 IWNRRUTINATHCMAVWIW 1 Contd...



3 Which of the following is an example of a government company ? 1

(A) Coal India Ltd. (B) General Motors Ltd.
(C) Hyundai India Ltd. (D) Philips India Ltd.
e o ¥ ST U BT SRR B W T 7
(A) @@ 3fear fatres (B) @ Hred fafres
(C) g=% sfean fafes (D) Tl sfear fatres
4 Goods for which import duty is not paid are kept in which of the following 1
kinds of warehouses ?
(A) Private (B) Public
(C) Government (D) Bonded

aegd B 0 omarsT 8 geEn s, fe § 4 fed wai % verge
wh s ¥ 7

(A) it (B) wrESIF
(C) @i (D) du®

5 This is an electronic device that enables instant transmission of any matter, 1
which may be handwritten or printed like letters, diagrams, graphs, sketches etc. :
(A) Fax (B) Voice-mail
(C) Telephone (D) Audio-conferencing

e TH SOFLITE SUHU & T &0 e ¥ fq@ 3¢ a1 BY 3U 9, (@i,
%, Wd AME B Th 6 d @A S8 Wl S bl & °

(A) e (B) digd Hd
(C) 2w (D) aTfsar BB
6 A milk shaker along with Nescafe is an example of which of the following 1
tools of sales promotion ?
(A) Exchange schemes (B) Free samples
(C) Coupons (D) Premium or bonus offer
“ThE % WY UH Pew ST Ty "Wads @ fe W @ few dwee @
AR & 7
(A) =gy faFma g (B) Tw A ®1 faawe
(C) U e (D) S99 % &7 H G& &

=
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7 Which of the following is a direct channel of distribution ? 1

(A) Producer
(B) Producer
(C) Producer
(D) Producer

Ty faaxe qregm e § g em "W o® 7

(A) TdEH
(B) TdRE®
(C) TdR®
(D) TdRES

9

9
9
9

— Agent — Consumer
— Retailer — Consumer
— Wholesaler — Consumer

— Consumer

TS > SUHET

BZHT fagbar — SuHERT
g fasear — Suse

IR

8 This Act formulates quality standards for goods and their certification. 1
(A) Industries Act, 1951

(B) Bureau of Indian Standards Act, 1986

(C) Consumer Protection Act, 1986

(D) Prevention of Food Adulteration Act, 1954

I B SAGH b Y YUECT AEh Bl U HRAT ¥ SN IRl FHI

CXGIE

(A) ofEfies &, 1951
(B) WA AMe S SfaftEd, 1986
(C) SuHwErRT gxawr sifufs, 1986

(D) wWr ugrd framae Ueum sfataw, 1954

9 While deciding the location of the business, the entrepreneur should consider : 1

(A) Sources of supply of raw material
(B) Nearness to the market

(C) Awvailability of labour and transportation

(D) All the above
Th FIEE % WM B gIE B GAHd, EH B T H ¥ BT #nml W
AR & Tz 7
(A) & 9| B WG & 9
(B) =X @& Teean

(C) o9 &%l IUAHA! Td IEAM Bl Gaen
(D) U |

53/AS/3—215 A
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10  Self employment in small scale farming activities does not include : 1

(A) Dairy (B) Carpentry
(C) Poultry (D) Fishery
B e @ Y wisr o = oafdfad T& § e
(A) =0 (B) g3
(C) witure (D) HoE e
11  State any three limitations of a partnership firm. 3

el Fa9™ & Bl dW 9Het B Iwd disg|

12 State any three responsibilities of business towards creditors. 3

TG & WER % i fhel 9N SAEIEl B Stid  BIT |

13  Explain briefly any two benefits of E-commerce. 3

-y % Tl 9l @Ml Bl GEY ¥ 9UsEd |

14  State any three advantages of rail transport. 3

W AT & [l O @ @ SeiE B |

15 What is meant by multiple shops ? State any four features of multiple shops. 3
TgEE® THAN § AT A A § ¢ qgHEDm GBI DI (el a0 [qerwanst @l
SR DI |

16 Explain briefly feasibility study and identifying entrepreneurial opportunities as 4

functions of an entrepreneur.

Th Sl & T BEl Bl GHHET
(31) HuTegar oteHge (§) SEY % SEEd @l Usd |

RN 1 Contd...
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17  Describe briefly ‘right to be heard’ and ‘right to seek redressal’ as provided 4
in Consumer Protection Act, 1986.

U GXeuT fafem, 1986 H YW ‘GAATs ®1 SAHGR we Framer &1 St
® GHT F qUA BT |

18 Explain briefly any four objectives of advertising. 4

foemme & 6l an SEedl @ H8Y ¥ IRy |

19 Distinguish between a ‘current deposit account’ and a ‘savings bank account’. 4

% T §% QAT X 9 S @Er ¥ 3t W By |

20 What is meant by a private company ? State any three features of a private 4
company.
% Sl & B T Y 7 P UH TSl Huel @l Rl dm fasivaret @ Iwd
BT |

21 What is meant by a partnership form of organization ? Also, state any four 5
features of this form.

IR FI9™ B Hl AY § 7 3 A9 B Thwl A fagwaet &1 Swd
HIFTT |

22  Besides carrying mail through various means, post office also offers some 5
special services to business firms. Explain any five such services.

faf= el | A9 A9 % oAl SHEY Aa9iu® BHl Bl $B G99 garg A
YeM HA © | UEr Rl uiw wanet @ auwsy |

23 'KPO involves off shoring of knowledge intensive business processes that 5
require specialized domain expertise.' In the light of this statement, explain
any five benefits of KPO.

‘KPO & oM &9 =qa9d Wiharstl &1 oqae grafad &, fae fau fafire srids
®I [aQvsar oasTd 1 39 w9 % dad ®, KPO & fh=l uig i &l gusisy |

RN 1 Contd...
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24

25

26

27

28

29

30

53/AS/3—215 A

Describe briefly any five functions of a retailer. 5

Th FTHT [Gohdl & Tl 9 HEl #H §a9 ¥ gHeny |

Explain briefly the role of businessmen and consumers self help groups for 5
protection of consumer interest.

SUAIRT XA ¥ AN JAT WE Herar WqEl bl qfieer B dag o
AT |

Give any six points of difference between self employment and wage employment. 6

WIS qAT Tdae SR § iz B: 3fdy §diy |

Describe briefly the responsibilities of a consumer. 6

IUATRAST & SOENI BT T84T F g BTy |

Explain briefly any two forms of fixed shop retailing under small scale 6
retail trade.

@ WA Fehl ANN & A @l el & 6ol 3 am & g9 § gassy |

Explain briefly the following principles of insurance : 6
(a) Principle of indemnity
(b) Principle of subrogation

(¢) Principle of insurable interest.
§ % Frafated el @ 98T | wheEg
(a)  afergfdd

(@) v
(@) wEfaa @ |
Describe briefly any three types of industries with suitable examples. 6

TERT & Tl 9N THI B IEEIO Gied &Y § I @iy |
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HOME SCIENCE

(216)

Time : 2% Hours] [Maximum Marks : 85
Y | S
g 25 gue] [quiie : 85

Note : (1) All questions are compulsory.

(2) Marks are indicated against each question.

R« (1) [l gy ettt ¥
(2) YA® UT % ik SUb A & W ¥ |

1 During the day plants give out — 1
(A) oxygen (B) nitrogen
(C) carbon monoxide (D) carbon dioxide
Tg-Ury f&T % wHT R oA § 7
(A) SRS (B) g
(€) HET HAfraTEs (D) FET TE SRS
2 Which of the following diseases can be caused by contaminated water ? 1
(A) Tetanus (B) Typhoid
(C) AIDS (D) Chicken-pox
1 5 ¥ 3| AT TR UM % SR e § 7
(A) 2@ (B) ZEWITS
(C) uw=H (D) of@@r (chicken-pox)
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3 Which of the following is a vegetable stain ?

(A) Milk (B) Ghee
(C) Blood (D) Tea
= & ¥ sF-u1 aewias g1 3 7

(A) 3o (B) i

©) @7 (D) ==

4 Seasonal foods should be preferred while planning meals because they are —
(A) fresh (B) nutritious
(C) less expensive (D) all of the above

FER FESH &Id G99 AEd e Ui & offue fed foar smar
Fifs I BT T —

(A) s (B) difte®

©) u (D) SO I

5 Yellowish tinge in eyes is a characteristic symptom of —

(A) cholera (B) typhoid
(C) hepatitis (D) influenza
el ¥ drar-ud fepoer eor ¥ 7

(A) & (B) eEWiEE
(C) ®¥UemEed D) w1

6 Anti-bodies are produced by —

(A) red blood cells (B) white blood cells
(C) platelets (D) all of the above
gfas T feee w B € 7

(A) W @ BB (B) 9d & T
(C) wieded (D) i wh
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7 Muslin is a fabric which is - 1
(A) light weight and loosely woven
(B) transparent and crisp
(C) heavy weight and thick
(D) medium weight and plain
IEE T Ul Ul ¥ S -
(A) B ST Sl g
(B) urEst o &uq
(C) 9T g™ &fX e
(D) 9T 9 S 9T

8 Yellow fruits like papaya and mango are rich source of — 1
(A) Vitamin A (B) Vitamin B
(C) Vitamin C (D) Vitamin D
A % S qdn ofR o fpaes ot W ¥ O?
(A) faeim © (B) T =
(C) faefm @ (D) faefm &
9 Define 'pollution’. Name two sources of pollution. 2

YW B UG BT | TGUIT % A Fal b AW qARY |

10  Define : 2
(a) Calendering

(b) Sanforisation
afeaiig &g -
(a) eierT

(b) WTHRIESIA

11  List any four steps of management. 2

A % AR AN B GAES HISY |
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12 Name the four self employment opportunities that are available in the field of 2
interior decoration.

AT SHNYH & FHIT & S8 B8 I WA JIaY Iqasd 8 & 7

13  Write the method of making ORS solution at home. 2
T UX SIS Y& A| S9N @ Jdel SaRy |

14 Differentiate between 'staple’ and 'filament' fibres. 2

B g SR WY dg AW O ¥ e e AR |

15 List any four activities that are performed as part of daily cleaning. 2

T AR HA B gANS B S 6 I aE-9wE % §99 ®HY 9 8 |

16 What four things should always be kept in mind while managing resources ? 2

EFT B TRAT BId 9T B9 91 Al & & § @i 7

17  Suggest four ways of saving time. 2

g SO % AR dl% gIET |

18 List down four ways by which parents can reduce the negative effect of media 2
on adolescents.

T a1 qTUH B goes e fogs g/ da-fuar Jifsar & it w usd
I AT G B A Th |

19 What can be outcome of permissive disciplining styles of parents ? 2

AT &% SgeneTd el STJTET @ dT S o obdl § 7

20 Enumerate any four characteristic features of grey fabrics. 2

U (grey) &9 & IR fqovam SAEQ |
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21  While giving first-aid to a person with a sprained ankle, what four things will 2
you do ?

I &1 A9 Bed @ Rufd o difsa =l & wraie gedr <7 999 de-d 91
Tdqh AU 7

22 List any four characteristics of 'beginning stage' of family life cycle. 2

it Sas ¥ CHeg Srardr’ (beginning stage) @i AR fasiwarett @i qaeg
BT |

23 List any four fine motor skills a five year old child can undertake. 2

urg adig geEr BA-d AR gen fea @Y wedar § 7

24  Define nutrition. List any five functions of food. 3

OO B AN BINT | Ao & uT B Sdsd |

25 What are resources ? Differentiate between human and non-human resources with 3
examples.

e R & 7 OO 9ee oiT Oifae greMl ¥ oY W iy | IEeTer of
AT |

26 Mention six things we can do to conserve nutrients while cooking. 3

qeE 90 99T T B: GEaen-al & g 89 Wue ddl @l T BN 9
AT b § 7

27 List down the six food management skills a home-maker should have. 3

et o1 feolt o 67 B: Ao FaR g@ B SEWEH § 7

28 Explain with examples, how will a family decide on how much to spend on 3
different items of a Spending Plan.

‘g B AR I 99T Uh URaR b 98 b9 Muifia & oifee, 6 g few
g X Tha =@ #Y 7 SeEdW g farge |
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29

30

31

32

33

34

35

36
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Name any four 'standardization mark' and give one example of each, of the products
on which they are used.

frsl TR AeE e fae & W faey 9 te-ue wrEl/Eayg @ 9w faey,
9 X 9z sifed few s ¥

Explain how does vaccination help us to acquire immunity.

A F R UeR Hhm W-{audl auar e ¥ 7 9eRy |

What first aid should be given to a person who has been bitten by a dog ?

Fd G HE SN W F yrafe fafeer < S ey ?

Discuss the importance of both heredity and environment on development.

fae@ @ ufear § [O-gF 9 e & 9Ed Bl a9l By |

Enumerate the guidelines to develop healthy relationships in a family.

TER § Ry g9Ul WG &3 & [0 @ & 9l ¢ e R fdRag |

'Respect : To get it, you must give it' — Elaborate the statement with examples.

TN UM % Y, E T BRI — 39 HAT I SaIelU gfed ATl iy |

Distinguish between 'deep frying' and 'shallow frying'. What precautions one should
take while frying food ?

Y T BUW qA @ R ¥ ] W BT | aod 999 T araental @
Y@ dmey 7

Describe briefly the various methods of 'friction' washing.

‘Tre’ & a9 B fafa= faftmy @ 98T o gusse |
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Note : (1) All questions are compulsory.

)
)

(4)
©)

()

st 0 (D)
2)
()

Marks for each question are indicated against it.

Questions 1-6 are very short answer questions carrying 1 mark each. Answer
these questions as required.

Questions 7-12 are short answer questions type carrying 2 marks each. Answer
to these questions should not exceed 25 words each.

Questions 13-25 are short answer questions type carrying 4 marks each.
Answer to these questions should not exceed 80 words each.

Questions 26-30 are long answer questions carrying 6 marks each. Answer
to these questions should not exceed 150 words each.

af g afEd ¥ )

&% UeT % 3w SHh gy g Mg ¥

g "' 1-6 Afag IO U ¥, UP® &1 1 3@ ¥ e I
HEIHATIEAR T |

U WE&AT 7-12 @Y AT 99T UHK 5, TA® & 2 3h | 3T UG & I
25 o= Y% § aiue TRl ' dme)

TeT W1 13-25 @Y ST 9T UHK 5, UU® & 4 3% =l T USH &
I 80 I YAG ° oifuw R EW =ifRu)

TeT W& 26-30 <Y TAUT YT T, WD b 6 3k | T U &b I
150 9= A% § offys T8 I ARyl
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1 According to Abraham Maslow, when a person moves towards reaching his 1

fullest potential, it is called :
(A) Self Esteem (B) Self confidence
(C) Self worth (D) Self actualisation

SH ®Ed ©

(A) H FHE B) THA-faga™
(C) o g (D) oA fafg
2 In an experiment, the researcher takes into account the relevant variables and 1

keeps the temperature and noise constant. Identify what kind of variables are

temperature and noise :
(A) Organismic variables (B) Situational variables

(C) Sequential variables (D) Dependent variables

TH §AM H, e AT 9% B S @A Y qUEE q9T s sl ReR @
g | TEEOH ®HINY {6 qUEE qer e " yeR % WX ¥

(A) wifgs =X (B) uitRyfus =X
(C) sgmie = (D) e =X
3 The expectations concerning the duties, males and females should perform and 1

the way they should behave is called
(A) Gender identity (B) Gender roles

(C) Gender consistency (D) Gender neutral

ey iR wfearetl & omfad wder qur 9% onfdd @ERR S ¥R &7 @Ry,
HEAW &

(A) T v B) fim v

(C) fofr ferzan (D) for Sard
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4 How can media have a negative influence on us ? Give one example. 1

TUYOT A1eAH B9 X fhd TR TRTUdE Y9I S| godl § ¢ Uh 3aE SIvg |

5 What are the characteristics of Attention Deficit Hyperactive Disorder ? 1

FEUH—-FAE A5 T [IbK & Fl Aqq9T & 7

6 Give the formula to measure intelligence quotient. 1

gig @RY &1 AU B B g @AY |

7 How does repression take place ? 2

T Thg WX Hfeq a1 & 7

8 What will you do to expand the capacity of your short term memory ? 2

AT ST B T DI GO GHA B Y 961 Tl & 7

9 What is the role of a mental set in problem solving ? 2

T ae § waRafy @ w® oqfeer 307

10 Differentiate between 'growth' and 'development' with suitable examples. 2

Sfod SeRwl @ weEdar ¥ ghs dun faewm & " fawe st |

11 With the help of examples explain ego centrism and concentration as an 2

important characteristic of preoperational stage.

Sfd SETEXN %I Her™dl WHh{ AT BITSTY [ 38 Hiaewdl qd1 THRAT g4 Hihared
AT &% FE@YY W& T |
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12 Suggest any two exercises in Pranayama. 2

UM b feel Al oTRTEl & gHE aeig |

13 How does Preksha Dhyana help in relaxation ? How can Preksha Dhyana 4

be achieved ?

Y- 9 TeR gl oM 39 ¥ Werm®d sal ¢ ¢ Ye-ee fd uer U
fopan < war ¥ °

14  Discuss the different types of yoga. 4
I & fafr= g o=l @iy

15  Suggest some ways through which psychological interventions can help in the 4

eradication of poverty.

FB UH THACES sad B gAE aieig 56 &R TS B S<ad 8
gl B |

16 What are the techniques used by the experimenters to control the unwanted 4

effect of relevant variables ?

TNl GETA 9 % ofdifed YWl % RS {9 wiatwl g s §o7

17 Differentiate between Clinical and Organisational psychology. 4

IR AR ISR ES 1 PR 1o | e e £ B oK G 5 L

18 Discuss the application of perception, sensation and attention in everyday life. 4

e S o Y™, Y qUT H§AedT & WANT X Tdl dieTg |
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19 Discuss the various indicators of poor mental health. 4

HISI AFRAS @R & A0 X ga] Hied |

20 What is motivation ? Discuss any three secondary needs. 4

Fuem & & 7 fERl AN MY SraYdedrstt 9X Odl BIited |

21 What are the factors that lead to attitude change ? 4

afigta & 9a@@ & BF § HH § 7

22 Discuss the role of heredity in the development of the human personality. 4

A AfRE & (96| § AR & el 9X ==l Sy |

23  Suggest some strategies for efficient time management. 4

FIA T TEET B &g PO OMIGA B FAE ST |

24 How does the organisation work as a system ? 4

G fhe YK Uk oAl &b ©9 § B Bl & ¢

25 Suggest four strategies to enhance productivity and excellence at work. 4

HRET H IUGET TAT IHRAT B ToM & (6ol AR OHIEl B HAE Y |

26 Differentiate between conflicts and frustrations. 6

TE q91 ol & "7 fade @iy |
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27 Discuss different ways through which human-environment relationship can be

understood.

AFT-UAYT & G B 9 9 e ddel T Tel B |

28 What do you mean by intelligence ? Discuss the process of measurement of

intelligence.

e ¥ oW F g95d § ¢ g & BT DI UhAl UX @l BISTT |

29 What are the four ecological systems that influence human development ?

TFa I B q9iaa s ael 9n iRRafde yontedr w|&am € 7

30 How does attitude formation take place ?

sitqgra @1 T fe g sar ¥ 7
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INDIAN CULTURE & HERITAGE

(v wepf Td foe)
(223)
Time : 3 Hours] [Maximum Marks : 100
qog ¢ 3 gue] [quifes @ 100
Note : (1) Attempt all the questions.

(2) Question No. 1 to 8 are multiple choice questions. Answer to these questions
should be given in answer book provided to you. No separate time is allotted
for attempting these questions.

(3) Question No. 9 to 16 are to be answered in about 25 words.

(4) Question No. 17 to 25 are to be answered in about 40-50 words.

(5) Question No. 26 to 30 are to be answered in about 150-200 words.

R« (1) Al weAl &1 I AR

)

)
(4)
©)

U G 1 ¥ 8 % axiTse U ¥ W 2| ST SuX ofur Sai-gRae
7 fafed| axgits el & W omT ¥ g9 T T R

U7 WS 9 | 16 T% % U B SAX @A 25 |l H faied)

UeT WA 17 ¥ 25 T & U B IAL TTHT 40-50 9=y H faRad |
T9T W& 26 ¥ 30 % & YA B AT @THT 150-200 sT=Ef HofaRad |

1 In which of the following cities of the Harappan civilization was a dockyard found ? 1
(A) Lothal (B) Mohenjodaro
(C) Dholavira (D) Kalibangan

T Al b W H ¥ fhg TR ¥ Us dSCTE U™l T T 7

(A) draw

(B) HrRTSETEl

(C) «amEra (D) BT
53/AS/3—223-A | 3 ARHENRRTCATUATHAA [ Contd...



2 In which of the following languages Tulsidas wrote his famous book 1

Ramcharitamanas ?

(A) Brajbhasa (B) Awadhi
(C) Maithili (D) Khariboli
JAEEE J SO S T TG AeE e o | few Wt o far am 7
(A) & 9 (B) @4l
(C) A (D) Gt
3 Bhakti poet Tukaram wrote in which of the following languages ? 1
(A) Kannad (B) Telugu
(C) Marathi (D) Hindi
Hod ®ia geR™ = o ¥ few W o foea 4 ?
(A) &S (B) dgT
(©) =l D) =
4 Dakshin Gangotri is situated in which of the following regions / continent ? 1
(A) Himalayas (B) Nilgiris
(C) Arctic circle (D) Antarctica
1 5 ¥ T &/ Hweelu # Sfaer TRIET Rem ¥ 7
(A) femrea (B) iy
(C) orhfew &= (D) aTeTdhiemT
5 In which year did the Indian scientist C. V. Raman win the Nobel prize ? 1
(A) 1930 (B) 1931
(C) 1932 (D) 1933
e o @ fpg 9 § 9l dofe @ @ WA @ Aed gEwr frer ear 7
(A) 1930 (B) 1931
(C) 1932 (D) 1933
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6 Which of the following madarsas was not situated in Delhi ? 1

(A) Muizzi (B) Nasiri
(C) Gawani (D) Firuzi
1 5 ¥ & wewr e o Ruq W@ oam 7
(A) Tl (B) Rl
(C) T (D) feSh
7 Which of the following religious communities is not governed by the Codified 1

Hindu Act of 1955-56 ?

(A) Buddhists (B) Christians
(C) Sikhs (D) Jains
= & 9 3 91 aiiie @ Fuiia fog sfuf@d 1955-56 9 sgentad 81 & ?
(A) &= (B) =®E
(€) fm (D) S
8 Ladli' scheme of the Government of India is for the protection of : 1
(A) Girl child (B) Infants
(C) Women (D) Senior citizens
ARG F@N B Al Ao had! e & g oY & T8 & 7
(A) e Ty B) frg
(C) wfewmst (D) T
9 Mention two aspects of the Harappan Culture which are still practised in our country. 2

TSWT B W&pIA B & Ya S BN U H A W yEfd & Sl S
B |

53/AS/3—223-A |

9]

R TR AR VINTICHAR DA 1 cont...



2

10  State the names of the two major divisions of Buddhism.
g5 99 % I & AFN & AW fakad |
11  Who was Bulley Shah and why is he famous ?
JIemE BHE g X 9% R’ U § 7
12 Mention two reasons for the popularity of Saint Jnaneshwar (Gyaneshwar) of
Mabharashtra.
TIOE % < MY & AbUadl & & &R &1 Sa@ By |
13 Why did Kabir become popular among the masses ?
HER F ST b S AHHd gL 7
14 Why was the Theosophical Society established ? Give two reasons.
RrrEeee @RS & WO ® & T AT P A SR SaEd |
15 Why is Wood's Despatch considered an important document for Indian education ?
Give two reasons.
g8 & HWUTH B ARG R & weaqel SiHeE i AT S 8 ¢ &l B
A= |
16 Why is elementary education considered the most important stage of education ?
Give two reasons.
Tt el frem @ gaiiue weagel Wl R’ 91 S & ¢ &l bRy SaRy |
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17  Explain the nature of the political organisation of the Aryans in the Vedic age. 4

dfH T T A B ASTHIaH HRAT & WE DI ATAT BT |

18 Explain main characteristic features of Sufism. 4

qoERE & Yg@ dIREE q@l B AR i |

19 Examine the role of newspapers in the making of modern India. 4

Myfe wRa & Y § TR o=l @ qieer &1 Thae s |

20 What reasons led to lack of good literature in Kashmiri language ? 4

B 9T F $Y OB Iy fad SN & &RY 9ad |

21 Give an account of the Suhrawardi Silsila of Sufism. 4

gWl A9 % FeUdal A & aue i |

22 Describe the life and work of Ishwar Chandra Vidyasagar. 4
399Y O fIaEmR % Siad quT @rEl @l 9ud el |

23 What are decorative arts ? Explain their main features and forms in India. 4

3ABd HA™ HT Bl & 7 ARG § 3% U@ AU q°T T DI ATAT IS |

24  Explain any two merits and two limitations of the Distance Learning system. 4

e firem & fSl a1 @ qum I HRE @ et Big |

25 How can you say that 'Bali' in Indonesia still follows Hindu culture and religion ? 4
MY I8 68 UHR %% Thd & (% W, eFEl ¥ oW W g @wpla sl
g B I BT T 7

53/AS/3—223-A |
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26 Examine the significance of culture in human life. 8

g ST § W b WE Bl TAE i |

27  Explain the founding and the growth of Mumbai with special reference to 8

the unique architectural styles which developed here.

TS B WO AT gig Bl T8l [Gaihd g3 oigqd @y dfal & d54 o a9y |

28 Why is Jagdish Chandra Bose considered a great scientist of modern India ? 8

Explain his achievements.

T T% 99 B SYHE ARG BT b TEdH deNte R AET S 7
I U Bl AT DI |

29 What is meant by gender discrimination ? Explain the practices prevalent in 8

India which promote gender discrimination.

-9 & /7 ad ¥ 7 IR H fi-dT @l Wiaed 39 9l yaiad dfaat
®H AT BT |

30 Give an account of India's cultural relations with Sri Lanka. 8

ARG & Sd®l & T Wikplas dadi B que B |

53/AS/3—223-A |
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QA 3R

1

2

TUETET 9795 % Bl I8 UX U1 SThHis oAy fag |

HUAT YIS B S o 6 TTIH & P Joof a1 AT @l a1 & WE&AT & STl god I3
% T HUL BY 5 | 39 9@ B S A B A 6 99T wivd w0 H T

JEFTSs et ® stmuml IR fawedt (A), (B), (C) T@1 (D) ¥ € i3 Tk IAX g & qur &
TS TTR-gRasl ¥ T wE wa fafaw |

IS U9 b FE—A1 G U9 &b S e orafy & 9aY &1 &9 § | aggiTss get
& fu o 9 g9 TRl R s

ST-GRa® ¥ TEAN-Tae a9 sreEr fids @Mt % sAfdie ®el 4 SgHhie aes 1%
el Bl ST AT SR |

I ST-YRAHT T TeTT bl Hie gem SI/AS/3-A fad |

() WTUA had /ST ¥ & | Y o, afy o o @ A Y T8 o ue 9w § S}
T ghd ¥

Siepull, AT, STHRET, U, HYHI, @@pa i fer |

FUAT SA-YRaser 9 &g T Sl § fad 6 o few W ¥ I faw w2

(@) afy e &t ua oS % arfafia fpdt o o & SO foad € aF w9 &l aus
¥ B ol Jreat | it e daa s g
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ACCOUNTANCY

(eraie®s)

(224)
Time : 3 Hours] [Maximum Marks : 100
g o 3 Hud] [quie : 100
Note : (1) All questions are compulsory.

(2) Marks allotted for each question are indicated against it.
fRar ¢ (1) =wf we sfEr 2
(2) YT® U b b sEb G IO W T

1 Out of the following which is an internal liability of a business ? 1
(A) Bank overdraft (B) Outstanding rent
(C) Sundry Creditors (D) Capital
frafafaa o ¥ 9@ & ofidie aar B A 8 7
(A) & ertufaey (B) ow fepumn
(©) fafqe dar (D) ol
2 Capital ¥ 15,000, Creditors T 5,000, Net profit ¥ 4,000. Total assets will be : 1
(A) T 16,000 (B) ¥ 24,000
(C) T 14,000 (D) T 6,000
gfs st X 15,000; ©9aIX % 5,000 T g[8 @4 T 4,000 &, qF F&@ dqradr sl
(A) T 16,000 (B) ¥ 24,000
(C) T 14,000 (D) T 6,000

S3/AS/3—224-A 3 U0 I T S 1 come..



3 The process of transferring Journal entries to their respective ledger account 1

is called :
(A) Journalising (B) Posting
(C) Balancing (D) Casting
Usten wlafeal & @ar S8 % e @l W G B bl qiear &l
HEl SIS
(A) UsFMfad B (B) @AM HTA
(C) HFAT BT (D) Sl &
4 If original cost of a machine is I 60,000 and depreciation is charged at 20% p.a. 1

under W.D.V. method, the written down value of the machine after three years

will be :
(A) T 48,000 (B) T 38,400
(C) T 30,720 (D) T 24,725

gie AMA & g @Fa < 60,000 ¥ qAT I WX TG W f4U ¥ 20% WA W
W Y @I T T E, A A9 a9 9% AT # BIed Yo BN

(A) T 48,000 (B) T 38,400
(C) T 30,720 (D) T 24,725
5 Closing stock appearing in the Trial Balance will be shown in : 1
(A) Trading Account (B) Profit & Loss Account
(C) Balance Sheet (D) Both in Trading Account and Balance Sheet
qaue ¥ foemm siftm wiiw & et smom
(A) =i g | (B) ww-=afY @ A
(C) go-w ¥ (D) =MNE @ qo gaa-u a= ¥

S3/AS/3—224-A 4N =y 0.



6 In Tally, which short-cut key we will use for company and company information ? 1
(A) Fl1 (B) F2
(C) F3 (D) F12

HUAT TAT HUAT AT G B Al W [BE —HE Pl B WA B & 7

(A) Fl1 (B) F2
(C) F3 (D) F12
7 State any three limitations of Accounting. 3

QBT B B W GHT IAET |

8 Classify the following accounts into personal, real and nominal accounts : 3
(a) Capital (b) Wages paid
(¢) Building (d) Commission received
(e) Furniture (f) M™M/S K. P. S. Enterprises

frfafaa @l @l iR, arafas qar THEE @l § i By

@) i (@) "ol P
(M o (=) i T
(¥) wArax @) g &. 0. wE. gewEad
9 Write any three objectives of preparing Trial Balance. 3

IUE SN b iy oM 3E9d fqRay |

S3/AS/3—224-A SN T 1 come...



10  From the following information, prepare Profit and Loss account of M/S. Sanat 3

Bros. for the year ending 31-03-2015 :

(@) Gross Profit ... < 54,000

(b) Salaries ... < 12,000

(c) Dividend received.........................co 3 4,350

(d) Carriage outward ... < 2,000

(¢) Rent and taxes ..., 3 3,250

() Selling expenses ...................cooceeeiiiiiiiiiii, < 1,000

frafafad goT ¥ 99 §9d §e9 & 99 @Eid 31 " 2015 &g @mH-eI
Gar SR

(B)  TBT TTH oot 3 54,000

(@) ATT ooveeeeeeeeeeeeeee e T 12,000

(M) FATHIIT AT cvvvveeeeerirreeeeennireeeeennreeeeeennereeeeennnnns T 4,350

(T TET T o T 2,000

(F) TBWET TH BT T 3,250

@ TIBT T oo, T 1,000

11  Write any three applications of computer in accounting. 3

EiET W B b dls A eguart faRagl

12 What is meant by 'accounting vouchers' ? Explain debit vouchers, credit vouchers 4

and transfer vouchers in brief.
‘AGIHT YHOTR 9 T AMY™ E 7 M UHIG, ST YO q9T SAaieT THIIIG!
Bl G ARAT BT
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13  What is ledger ? For what purpose ledger is to be prepared ? 4

Gr-98 R 7 W98 {69 S ¥ I8 SRl $ 7

14  Explain the convention of conservatism and its significance. 5

Bieamedl & URURl q97 SH% Hed Bl ATl BisT|

15 Classify the following assets into Current assets, Tangible assets, Intangible assets 5

and Wasting assets :

(a) Furniture (b) Goodwill

(¢) Oil wells (d) Patents

(e) Cash (f) Bills receivable
(g) Plant and Machinery (h) Mines

(1)  Stock of goods (J) Building

S < 7 g R, o e, ot el o e R
e BTy

() WX (@) @t
(M d@ Fg @ T
(%) s @ = foe
(®) €I 9 " ) @A
) Tl () WA
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16 From the following particulars prepare a Sales book in the books of M/S. Godrej 5
Furniture House, Faridabad for the month of March 2015 :

Date Invoice No. Particulars of goods sold

12-3-2015 0123 Sold on credit to Shyam Traders, Cuttack
20 Chairs @ I 250 each
20 Tables @ I 500 each

22-3-2015 0124 Sold on credit to Banka Furniture, Kolkata
5 Sofa Sets @ < 5,000 each
10 Almirahs @ < 3,000 each

Trade discount is offered @ 10% to each customer.

frafafag faaeel @ fod TR Bl 364, BUGER B Jwal | "™ 2015
Ae &g fopa =@ w9 wRW
e qoh G IEEACER: CCABRECEA|

2015
e 12 0123 M 3H, ®Hedh Bl IYURX S

20 AT @ T 250 wfa

20 Ast @ % 500 wid
ad 22 0124 qiBT HriTaY, BIAGKT B S Sl

5 @eRe @ 5,000 Ui
10 steifal @ % 3,000 wid
&% UeH B 10% AWM S o S 2|

17 A firm purchased furniture of ¥ 60,000 on 1-7-2010 and ¥ 30,000 on 1-4-2011. 5
On 1-7-2012 one-sixth of the first furniture was sold for ¥ 8,500. The firm
charges depreciation under reducing balance method at 10% p.a.

Accounts are closed on 313! December every year. Show Furniture Account from
2010 to 2012.

wh B 7 1 s 2010 B T 60,000 BT qaT 1 7@ 2011 @& T 30,000 HT HAET
glar| 1 Jar 2012 & 9ed Al el &1 ®3ai Ar < 8,500 ¥ = fEan wam
TE ®H 10% WA B X ¥ BiEa oW faf ¥ sfaeder @ ¥ g gl aw
31 fageX @0 9% @ SEr ¥ 2010 § 2012 9% B HEX @l SUiEyl

S3/AS/3—224-A 8RR EW ARV MOCIIIAN I 1 cont..



18 What do you mean by Tally ? Write any four features of Tally. 5
AT ° oTUl T I 37 Sl @ @y 9 9w faRaw)

19 Distinguish between Book-keeping and Accounting. (any four) 6

sl IR Smarl W gWue Ud W@ied § sfawg sig |

20 From the following particulars prepare a simple Cash book in the books 6

of Anup Kumar :

Jan. 1, 2015
Jan. 7, 2015
Jan. 12, 2015
Jan. 17, 2015
Jan. 22, 2015
Jan. 27, 2015

Jan. 31, 2015

Opening balance of cash
Cash sales.................
Paid wages ................
Rent received.............

Purchased furniture

Borrowed from Y

Drew for personal use

frefafad foeon @ oF FAR @ JEdl ¥ WERT Uhs S8l SRy

2015
SECEU!

S 7

SHed 12
Sad 17
SHEd 22
SHed 27
SHed 31

53/AS/3—224-A |

UBS BT TTRHB Moo T 2,000
TBE TABT o, T 15,000
AT FIATT oo eseeenee T 3,000
THTAT TT v T 500
TR GG v T 800
a5 § w9 faar T 3,000
T W T ,
TR ITART TG BB e, T 200
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21 From the following information ascertain the balance that would appear in 6
the pass book of Mr. Madan as on 31-12-2014 :
(a) The bank overdraft as cash book as on 31-12-2014 was I 16,340.

(b) Interest on overdraft for 6 months ending 31-12-2014, ¥ 1,000 is debited
in pass book.

(c) Bank charges debited in pass book were T 60.

(d) Cheques issued but not yet encashed amounted to I 1,250,
(e) Interest on investment collected by banker I 1,000.

(f) Cheques paid into bank but not cleared ¥ 2,500.

frfofed freRer ¥ 31-12-2014 &Y &7 We9 & UEEgE B AW T BN
(®) 31 fEaT 2014 & AHs & H d% srfufasdd T 16,340

(@) 31 e 2014 & @ ® "R &G SAfutawy 9T =St 31,000 gEgH W
SUCRIRCE IO

@M uEgH ¥ ¥% 7AR % T 60 T feT )

@ T 1,250 % & 4 BT g W T% YAIQ T T
@ % T FEY W oW T 1,000 guRa e )

@ o ¥ T 2,500 % b ST HAY UG GHARNET T& 3T

22  Pass Journal entries and prepare ledger accounts : 6
Feb. 1, 2015 Goods purchased ... < 11,500
Feb. 7, 2015 Goods purchased from Deepak.............................. < 2,500
Feb. 10, 2015 Deposited in the bank ... < 3,000
Feb. 15, 2015 Goods returned to Deepak ... < 200
Feb. 17, 2015 Dividend received ... < 750
Ao ylaftedt #ifve qur @ S9EY
2015
EXCEUNSI HIA TG vttt % 11,500
EXCEUNY, ATHE H ATA GG v % 2,500
wEd 10 FB T T B oo T 3,000
EECEUNE ATH BT AT AT TBAT oo % 200
w17 TATHIIT TR et % 750

S3/AS/3—224-A 10 [HERHUAUTMAMOR0 G 1 Contd...



23  Distinguish between provisions and reserves. (any four)

sl TR oMa W YEYN UE ded ¥ s sivig)

24 What do you mean by financial statements ? State any four objectives of

financial statements.

i e 9 omuer & Ay § 7 foig faeen & @iz 9 SEY™

EELE

25  From the following Trial Balance prepare Trading and Profit and Loss Account 10
and Balance Sheet for the year ended 31-12-2014.

Debit balances Amt.(R) | Credit balances Amt.R)
Furniture 2,640 | Capital 10,000
Motor Vehicle 10,000 | Sales 62,800
Building 17,360 | Creditors 3,000
Bad debt 250 | Bank overdraft 2,100
Debtors 5,000 [ Purchase return 250
Stock (1-1-14) 3,000 [ Commission 650
Purchases 25,380
Sales Return 200
Advertising 1,450
Interest 472
Cash 3,650
Drawings 400
Insurance & Tax 3,570
General Expenses 1,200
Salaries 4,228

78,800 78,800
Adjustments :

(a) Closing stock on 31-12-2014 was T 7,600

(b) Salaries outstanding I 278
(c¢) Insurance prepaid I 70

(d) Depreciation on Motor Vehicle 10% and 5% on Furniture and Building.

53/AS/3—224-A |
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Frfaiaa aaue 9 31 f€sR 2014 & 991 8N 9 99 %l AR JoT ATH—81 @I
dar S@r fafyr &1 ger-u TRy

EIGENI T|swm 9w 4
LRIy 2,640 | dsit 10,000
e A 10,000 | fesea 62,800
NG| 17,360 | o9 eX 3,000
g 9T 250 | ¥ orfufeaemsy 2,100
LR 5,000 | g aTaE 250
i (1-1-2014) 3,000 | ®HIe 650
& 25,380
e amaEr 200
[EEIEEI 1,450
Sl 472
ECE] 3,650
T 400
9 T B 3,570
T =T 1,200
Iae 4,228

78,800 78,800
BRI

(®) 31 fxgax 2014 # sifew o I 7,600 @

(@) oEa daw T 278

(M v& yea@ s < 70

(F) X a8 X 10% TIT BAraX T 7T 9T 5% & 3§ STaed T 3 |
OR/37or

Explain the following adjustments with example and effect on final accounts :

(a) Closing Stock (b) Prepaid Expenses

(¢) Outstanding Expenses (d) Depreciation.

Frrafafad TH@STBT & SEET gidd F9IHEY q91 S @[l W 3T
gAE Hl §ARY

(@) sifem oo @) Yd yoa =g

(M) o=d =g ()  SrEe |
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A AT

1

2

e U9 % B USS UX Al STk oY fad |

FUAT YU Bl WG o 6 UTUA &% P YOl qUT LA B Iaql & WA & o
Jq U5 b W HUC BUI ¢ | 39 919 b Sg AT B o {6 9T whe ' A T

g wol & S uifia oty & fiaw &1 9

ST-GRA®! ¥ TEAN-TOe S Ul Mids W 6 Siead ®el Wl STIwHe e
W Tae] B sEr IelEl SR |

AT FO-gRasT T T @ ws e S3/AS/3-A fe |

(®) WIS haw Qe § & | 6T off, af omw o @ 9 & 7w fRS uwew 9w
¥ TO¢ < °hd T

i, ARy, @@, w9, B, €% R e )

FUAT SI-YRaa ¥ fu U S 9 fod 6 e few A F s fe W@ g

(@) afy omu & wd st & srfafea fpdl o wwr o TOX foad & @ wed @
R Y ) () i 1 B s A U 2o s M e T T
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PAINTING (Theory)

feerren (Rram=)
(225)

Time : 1% Hours] [Maximum Marks : 30
. 11 S
ECEENR gue] [quie : 30

Note : (1) Attempt all questions.
(2) Each question having 1 mark should be answered in about 10 words.
(3) Each question having 2 marks should be answered in about 30 words.
(4) Each question having 3 marks should be answered in about 50 words.
et ;0 (1) @0 uel & SOX AN |
2) 1 3% 9 YA% 99T B SAC @ 10 o § Qi |
(3) 2 3% I YAH UeT B IaX @THT 30 |l H qf |
4) 3 3% I TAB T & SAT @HT 50 9= H AR |
1 Why Gupta period is known as golden or classical period of Indian art history ? 2
T T B A HAl SdeE o @O SFar gidited g #i %Hel Sl & 7
2 Write in detail about the characteristics of Ajanta paintings. 2
ot fastar @i fasiwar @ & ?
3 Name two main centres which flourished during Pallava dynasty. 1
Td B b 4 e T e bl b AW SaRy |
4 Describe the famous Guler painting "Sringar". 3
T Sl B A g @ auie Be |
5 Mention the name of at least three floor decoration art of India. 1
F T BT A AGE By BRI % W ARy |
6 What do you understand by the term "Phulkari" ? What are the materials used 1
in it ?
TG B 7 R T P Fadrd ¥ B W WAl B YA feAr S g7
7 Name the colours generally used in 'Kolam' paintings. 1

Had BT T o f G @1 WA dar ¥ O°
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10

11

12

13

14

15

16

17

S3/AS/3—225-A | 4 (AR NN AMIOROROWNI - vasoq

Describe the famous Rembrandt's painting "The Night Watch" and also mention
the style of this painting.

W B o (T g 9’ @ aue BT | 359 TSl @ ™ SaRy |

How Post-impressionist style is different from impressionist style ?
gqEEE qo STR-FHEEE Wl § SRR @@ § 7 SRy |

Write an appreciative note on Auguste Renoir.

M T IX U Uoiares feuol fafaw |

Describe the painting "Dance Class" and why was Degas different from other
impressionist painters.

T @ A B FET B AU BT | T GE THEER] AR bl
sruem = ®| % 7

What is the theme of the painting "Guernica" and also name the artist of this
painting.

‘T fa % HeR B AW S g4 39 s @ faweeg % s H fafag |

What do you see in the painting "Persistence of Memory" ?

‘U oNT% HH M oo § el fmers wedr § 7

Name two Surrealist painters from your course of study.

112 ke = A e ) ey B 6911915 ) UG 7 1 2 K PO £ s | e

Write in detail about the compositional arrangements of the painting
"Brahmacharies".

‘FEETI e fod % ddeTee gEY 6 aR § fawa w9 § fafag |
OR / 3t
Write an essay on the development of artistic style of Gaganendranath Tagore.

TE=ATT SR &l helids Sl & e W e ey fafag |

What kind of technique is 'Fresco Buono' ? Explain the method of this technique.

FrescoBuonoWW%,%ﬁ@,éHW%@ﬁﬁw|

Write few lines about the Krishna Reddy's creation "Whirlpool".

FOM & % o adq@ & I v ufrar fakey |
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(Friverel & zwen)

General Instructions :
1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of
questions contained in the Question Paper are the same as those printed on the top of
the first page. Also check to see that the questions are in sequential order.

3 All the questions are to be answered within the allotted time.

4 Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.
Write your Question Paper code No. 53/AS/3-A on the Answer-Book.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you
can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,
Marathi, Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit
and Sindhi.

You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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W Tae] B sEr IelEl SR |

A ITX-YRABT T G9TUS bl wis de S3/AS/3-A fad |
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(@) afy omu & wd st & srfafea fpdl o wwr o TOX foad & @ wed @
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DATA ENTRY OPERATIONS

IET TA ST
(229)
Time : 2 Hours] [Maximum Marks : 40
T 2 ] [qui : 40
Note : (1) Attempt all questions.
(2) Marks are given against each question.
fRar ¢ (1) @Al wel & TR ART
Q) W% U % 3k SHe wHd R ™ ¥
1 Match the following and write your answer in the answer book : — x6=3
A B
(a) CPU (i) Input Device
(b) Slide Show (i) Line Printer
(c) Mouse (iii) Currency
(d) Windows XP (iv) Central Processing Unit
(¢) Amount (v) Full Screen View
(f)  Output Device (vi) Operating System
frfafaq @1 fram &% ot o So-gRaer ¥ fg -
A B
@ CPU (i) g feam=w
(b) Es o (i) wE fiex
(c) we™ (iil) ®ET
(@) foe@ xp (iv) Iza TR gfe
(e) &L (V) JF WA F
(f) emseye fearw (vi) e fawen
53/AS/3—229-A | 3 [UNUATAAREARRAUTAIIOCN 1 Contd...



1
2 Write in your answer book, True / False for the following statements : EX6=3

(a) C is an Object Oriented Programming Language.

(b) In both Normal View and Outline View we can see : Current Slide, Slide
Outline and notes.

(¢) You cannot use Custom Dictionary to remove a word.
(d) The font size is measured in points.
(e) Windows provides a quick and easy way to install new software.

(f) Speed of DOT Matrix Printer is measured in Characters Per Second.

frafafgd sa & @0 @81/ Ta o Sk gRasl 9 faw

(2 ¥ TH g RGEE W W ¥

(b) AT WA 299 3R T@I § &9 <@ Uhd & © IddAM WSS, WEe eu@l
3T red |

(c) T7 U&h I B 8 & WU HEHA TKEHIYT B SUAN T8l BT Ghd o |

(d) W JBR e ¥ AT @ © |

() Windows T HFIIY WA & & [T T @ M SE qTle6r 98
BT 2 |

() =i Afer e = fa wid @ ored § A Sy $ )

3 Define the following : 1x4=4
(a) Compiler
(b) My Recent Documents
(c) Area Chart
(d) Software

frafafaa & afenta &3¢ -
(a) Hebeh (BIFUTSE)
(b) T BW@ % IWES
(c) &= =i

(d) dwRaa

53/AS/3—229-A |
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4 Write short notes on the following : 2%x4=8

(2)
(b)
(©
(d)

CRT

Data Source
Title Slide
Speaker

Preffiad W @y P (s ) frd

(2)
(b)
(©
(d)

et

T 9@ (ST 1)
2lReel ¥llzs
afiwT

5 Differentiate between the following : 2x2=4

(2)
(b)

Font Face and Font Size

Read Only Document and Password Protected Document

= % dg eax W

(2)
(b)

Bi< BhE AN Wi GEA
HAd Uo7 I SWES Y UEde e st

6 Answer the following : 2x5=10

(2)
(b)
(©
(d)
(e)

Write the steps to remove windows components.

Explain the steps to create the data source using word table.
What are the different types of alignment available ?
Explain the autosum feature in MS-Excel.

How can we use cell reference facility in MS-Excel ?

Frfafaa wei & S difeg

(2)
(b)
(©
(d)
(e)

Windows #2a&l &l X & & [ ®ad fa@ |

I T I JUANT HL 32 €d a9 & (@7 Had e |
@ & fafr= ger w®@m § 7

TUE URd W e @9 (Autosum) gfaem & s ¥ Fad |

T PH TILE TR H @ (BCW AU B SUANT & Ghd & 7

53/AS/3—229-A S WAANHNUHRTAmImum - 1cont..



7 Answer the following : 2%x2=4

(a) Write the keyboard shortcuts or any special key which you can use for the

following actions :
(i) To use Save as Option
(i) Erase pen Stroke
(iii) Previous Slide
(iv) Replace the word
(b) Write the steps to Insert Text on a particular position.
frafafga & wax fad -
() Trfafea s@f & fu -9 s ar faw Feit s omu SwEm
® Thd § fa@
(i) ®T TH SWH & SUANT &
(i) T ®e TE B
(i) WiaaE wEs
(iv) 9| TEaA
(b) ©H fadw Rufy wx ure wfafad Cea L) & & Haa g |

8 Answer the following : 2%x2=4

(a) The air control board of India conducted a survey and found the following
data about the air pollution in various cities of India. Write the steps to plot

a PIE chart to show which area is most polluted :

Cities % (of Air Pollution)
Pune 10
Hyderabad 25
Mumbai 20
Chennai 10
Delhi 35

53/AS/3—229-A |
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(b) Following spread sheet data shows the Result of the students :

A B C D E F
1 | Name of the Student | English | Hindi | Science | Total | Percentage
2 | Amit 67 78 87
3 | Rajesh 87 97 45
4 | Ram 90 100 76
5 | Ibrahim 80 45 65

Based on the above data write the formulas to calculate the following :
(1) Total Marks of each student.

(i) Percentage of each student.

(i) Maximum marks got by student.

(iv) Write the formula in cell A6 to count the number of students.

frefafaa & s fag -
() 9 % &as =T 9@ 3 ue wdew fear ok v & fafa= swl o

10

kil

LERICIS

EE] 20
o=TE

Tt

35
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(b) Trfafaa @ sfie 3o BEN & ufomy & gafar § ¢

A B C D E F
1 |em&ram | 0 | =< | T | g« | widew
2 | sfa 67 78 87
3 | = 87 | 97 | 45
4| ™ 90 |100 | 76
5 | zarfem 80 | 45| 65

Sgad 32 % ouR W frEfdfad @ T & g (wrdw) fafeg
(i) YA® BE B FA 3B

(i) v&® BF B YA

(i) B & U< SAUsdH 3®

(iv) BEI @ €& @ TOET T b [WC A A6 H ¥F fad |
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o
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